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1G-0422-T1 PRELIMINARY TEST Te‘:'ltui‘;’e‘:'e‘
PAPER CODE GENERAL STUDIES & MENTAL ABILITY 3376
22040 (English & Telugu) 90

Duration : 150 Minutes

Max. Marks : 150

. Please check the Test Booklet immediately on

opening and ensure that it contains all the 150
muitiple choice questions printed on it.

. Separate Optical Mark Reader (OMR) Answer Sheet

is supplied to you. The OMR Answer Sheet contains
boxes for filling Hall Ticket Number, Booklet
Number, Venue Code, Signature of the Candidate
and Invigilator. Fill the boxes with Blue/Black ball
point pen only.

. If there is any defect in the Question Paper Booklet

or OMR Answer Sheet, please ask the Invigilator for
replacement immediately.

. Since the answer sheets are to be scanned (valued)

with Optical Mark Scanner system, the candidates
have to USE BALL POINT PEN (BLUE/BLACK) ONLY for
darkening the circles in the OMR Sheet including
bubbling the answers. Bubbling with Pencil/ink Pen/
Gel Pen is not permitted in the examination.

. The Test Booklet number is printed on right corner

of the cover page of the Test Booklet. Mark your Test
Booklet number on side 1 of the OMR Answer Sheet
by darkening the appropriate circles with Blue/Black
ball point pen.

Example to fill up the Test Booklet Number :

If your Test Booklet number Is ‘102365°, please fill os

shown below :
TEST BOOKLET
NUMEBER

[1]of2]a[s]s]
[ Tololololu]

If you have not darkened the Test Booklet number
at side 1 of the OMR Answer Sheet your Answer
Sheet will be invalidated without any further
notice. If it is darkened in a way that it leads to
discrepancy in determining the exact Test Booklet
number, then it may lead to wrong result/rejection
of the Answer Sheet and candidate himself/herself
will be responsibte for the same.

. Each question is followed by 4 answer choices. Of

these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the
appropriate circle for the question. If more than one
circle is darkened, that answer will not be valued at
all. Use Blue/Black Ball point pen to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question Na. 1 is Answer
choice (2), it should be marked as follows:
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The Transgender Persons (Protection of Rights)
Act, 2019 defines a transgender person as :

A. Trans-men and Trans-women

B. Trans-women only

C. Persons with intersex variations

D. Genderqueers ; l

E. Persons with socio-cultural identities, such
as Kinnar and Hijra

Choose the correct answer :

(1) A,D&Eonly
(2) A,C&Eonly
(3) A,C,D&Eonly
(4) B,C,D&Eonly

&r8) Bosl e (Srtiye SKm) Sio 2019, ¢,
Bl s Do M50l :

A gl -8, ¢ 558

B. ¢»8) -8 Sred

C. =0kl ) Bcren BOAS e
D. BouBAg,

E. MS,WM&#%WMI

Ko Sgben
383 mpad QoI HEn | l
(1) A,D&ESmESD
(2) A, C&ESm$d
(3) A,C,D&E g |
(4) B,C,D&EsSrgsd

GET IT ON
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Consider the following in relation to the
complaint of sexual harassment under *“The
Sexual Harassment of Women at Workplace
{Prevention, Prohibition and Redressal) Act,
20137 :

A. Any aggricved woman may make, in
writing, a complaint of sexual harassment at
workplace.

B. Complaints can be made to the Internal
Committee if so constituted, or the Local
Committee,

C. Complaint should be made within a period
of three months from the date of incident.

D. In case of a series of incidents, complaint
can be made within a period of four months
from the date of last incident.

E. Where the aggricved woman is unable to
make a complaint, her legal heir or such
other person, as may be prescribed, may
make a complaint.

Choose the correct answer :

(1) A B_.C&Eonly (2) A,B& Conly

(3) A, B&Eonly (4) A, B,C&Donly
358 Gdsodst &u‘é oA dbodew (dardts,
A8Go, H$OSHE0) Sio, 2013 8ol Boh FooDw
STEHE SonofHod & Eod AR pitrossn :

A FOHE DIPE IS/ BV HE¥0S” BohE
30oho  HBoD oEFSEor DU
BabSiydo.

B. efde Dovyen SaliSS woits K088 o
% 508 SOzt Dubidisay.

C. WHodobd mbAS S Fwe JH0S° Doyt
3asr0.

D. $Hd Dode DREHos®, D56 Jomwd 2bAS
86 Sof Totd IJvo HBEE' Doyd
Babhaish .

E. orhf § &5 Dovghio BabBd Hgod®, 8%
B85 TEth Bor SrOoDS aits 8 ot
BBy,

H8% wormid Do

(1) A,B,C&E&mgd

(2) A,B&Cargd

(3) A,B &E &rgd

(4) A,B,C&D3Irgd
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7

Match the following Institutions with their
locations :

Institution Location
A. National Institute for l. Kolkata
the Visually
Handicapped
B. National Institute for 2. Dehradun
the Empowerment of
Persons with
Intellectual Disabilities
(Divyangjan)
C. National Institute for 3. Bengaluru
the Orthopedically
Handicapped
D. National Institute for 4. New Delhi
Mental Health and
Neuros Sciences
5. Secundcrabad
& 2oh Iéoéeaéa 82 63 Brosod® mdBE b
S0 @rodo
A TESS S IED 1. Seope
QerSD FrolsHE
B. JaSSuSpurgSo6s 2. asers
QoHBEDal mH i’lﬂ':rs_)
D8 5obBE) 58
&30045 (BpsorasS)
C. JadsadderyS 366 3. Boktrd
oBSBEE ol
D. 3656 Dbt 35 4. 589
Dotod 38 wok Fmys?
DYS
5. RSogrers

Choose the correct answer :
53 avenid JoHEHsy:

(1) A-2;B-5;C-1; D-3
(2) A-4;B-3;C-5; D=2
(3) A-5; B-4;C-2; D-1
(4) A-3;B-1;C-2: D4

Egsm
EIRE

GET ITON
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The Scheme of Development of Particularly
Vulnerable Tribal Groups (PVTGs) covers which
of the following ?

A. Itcovers 75 identified PVTGs in India,

B. It covers the activities like housing, land
distribution, land development, agricultural
development,

C. It covers social security including Janashree
Bima Yajana.

D. It is implemented in 18 States and Union
Territory of Andaman & Nicobar Islands,

E.  The Scheme is rigid; the states are allowed
to implement the Scheme on the items
identified by the Centre alonc.

Choose the correct answer -

(1) AB,D&Eonly (2) A,B,C&D only

(3) A,C,D&Eonly (4) B, C,D & E only

B8E OG0 ABeN Sfrdte (PVTG ) ©d5)8

DEECS® rKBBD & Bod Bk 5D 7

A. rS88E06° 75 19B0SHES PVTG e0 8268 gerio.

B. Kyirloysmo,  #m Jobd, s w58,
BB ArDB)0 S0l srgssTes 38 srHo.

C. a3 £ Gires® 8 Fosioved 2558 Bt aviso.

D. 822 18 orglen, o8 IS Frodo wosirs,
AS%erB Biped® vien S,

E. & 3850 583330, Skeoo doge 8008
©OTOPI HID o Jren wed FATY) Aotwod.

N85 2ran JoSHE D&Y

(1) A.B,D& Esmgd (2) A,B,C& DSmgd

() A CGD&ESrgd (4) B,C,D&E srgdh

Arrange the following poorest economic strata of
Indian society from the lowest to upwards based
on their income levels as per the NITI Aayog’'s
Social Inclusion Sector Report July, 2021 :

A. Scheduled Castes B. Other Backward Classes
C. Scheduled Tribes D. Muslims

N8 OGrR FGS aoheS Db 6F ey 2021

80  sordh é;om:ﬁ spdore  gréfiah
Hirmod® & 8o Ha ©0% Feod eden ol
28 et yEn:

A WrGhoew B. a6 Idsads S6KsHw
C %ﬁg 8fen D, Soisww

Choose the correct answer :

3N asaren) DoHE B!
(1) C,AB,D (2) D,AC,B
(3) ACBD (4) A,C,D,B
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Satavahana inscriptions record the existence of a
number of craftsmen in Telangana region. Match
the following crafismen with their occupations :

Craftsmen Occupation
A.  Kularikas 1. Stone polishers
B. Manikaaras 2. Potters
C. Mithikas 3. Weavers
D. Kolikas 4, TIron-workers
5. Jewellers

PETER0 ThTe Booree Posost eds
006 Y Swrsethe ADED $3rth Bharan. & Bob
3 Sevsrtheh avb Hydos® addEidn:

Fisethen Syen

A, SHobben 1. o8d »0aIdrt
B. Hdsden 2. Digthen

C. Sodw 3. Ids>e

D. 505w 4, oo HDH %

5. Sen DD aetd

Choose the correct answer ;
283 aTrodd JoHERoMw:

(1) A-5;,B-2;C4; D3 (2) A-2; B-5;C-1; D-3
(3) A-3;B-2;C-5;D4 (4) A-4;B-3;C-5;D-1
More than half of all multi-dimensionally poor
individuals in India live in the following states :
A. Bihar B. Jharkhand C. Maharashtra
D. Madhya Pradesh E. Uttar Pradesh
Choose the correct answer :

(1) A,B& Conly (Z2) A,B,C&Eonly
(3) A,C,D&Eonly (4) A,B,D&Eonly
rEERE0E N oiliuiin DI eavgrd® S8 Dre &
Bob ovgred® DSt :

A. &6 B. &l

D. 38 E. A8838
008 warai DoHE Kodn:

(M AB&CamESdD (2) A, B,C&ESrgd
(3) A,C,D & E &rgah (4) A,B,D&E g

C. oy

Kollipara and Kuruvagarta inscriptions tell us
about :

(1) History of Kakatiyas

(2) History of Vemulavada Chalukyas

(3) Expeditions of Gautamiputra Satakarni

(4) History of Satavahanas

EDIPE, HESHY TR HIH DB BenHaraw :

(1) s*58cke 30

(2) Idwemrr ohdne 08

(3) FErDHSTSEY SclscrSw
() edapieie SOE
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Which of the following “siccas”/coins were used
during the Asaf Jahi period ?

A. Hali Sicca

B. Mahbubia Sicca
C. Mali Sicea

D.
Choose the correct answer :

(1) A,C&Donly

(2) A,B&Conly

(3) B,C&Donly

A, B & D only

& Bob >B6° o35 aire roost aBEFPRCDS

“DE e /e 90 ?
A HFObE

Osmania Sicca

B. HirardcdbE;
C. 3r0dE

D. adR0ar 2Y,

BES BT RDI0SHE R ;
(1) A, C&DIrgd
(2) A,B & Cdrgd
(3) B,C & D&rgd
(4) A,B&D Srgd

Who was the architectural designer of Osmania
University College of Ans & Social Sciences
building ?

(1) Belgian Architect Earnest Jasper

(2) Spanish Architect Andrca Palladio

(3) Egyptian Architect Ali Khaled Elewa

(4) English Architect John Abel

odrcr arstyd s8S ©f 6f) wol Fud
2N PS50 8 BHESE 456 25 7

m
2
(3)

4

BOAHS 96, TE 98)F a5
yows &6 B8 soduir Sepdcie
123 98,85 0d o08 285
20N 60 BE =5 23S
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Match following newspapers/magazines with
their respective founders during the Asaf Jahi
period :

Newspaper/Magazine Founder

A. Asif-ul-Akbar 1. Amjad Ali

B. Safeer-e-Deccan 2. N. Narayan Rao

C. Musheer-e-Deccan 3. Shoebulla Khan

D. lmroz 4. Qaza Abdul
Ghaffar

5. Pundit Kishan Rao
o35 wrlre oostd & B0d ToHBSw/

SoniSEsly D oD DS eSSt :

PRHBE /i@ PSHD

A. wdf-ad-9%6 1. woubSeb

B. 396-2-8%8 2. IR.>oeahd oo

C. 5wohb-2-8%5%85 3. Pdoer srs

D. agrs 4. grew @zgﬁ Harl
5. $0&8 85305

Choose the correct answer :
505 asaranii oitHSam |
(1) A-4;B-3;C-2;D-1
(2) A-3; B-2; C-4; D-5
(3) A-5:B-4:C-3;D-2
(4) A-2;B-1;C-5;D3

Which of the following are part of the Gond
Tribe ?

A. Raj Gonds B. Madia Gonds

C. BhonslaGonds D. Khatulwar Gonds
Choose the correct answer :

(1) A, C&Donly (2) A,B&Conly

(3) B,C&Donly (4 A,B&Donly

& Bob ar0S* Poth BriS® grifo mon:d arth DSK?

A. od Fotoen B. H&chifotden
C. d¢fopAtotoen D. otoerd oo
JON @I JOIHE DS :

(1) A C&Dsrgd

(2) A,B&C &g

(3) B,C & D swgadh

(4) A,B&D Srgdh

ExmE
B 10|

13
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Match the following authors with their literary
texits :

Author Literary Text
A. Vallabhacharya 1. Prataparudra-
charitamu
B. Ekamranatha 2. Simhasana
Dwatrimsika
C. Kase Sarvappa 3. Ganapathi-

devacharitamu
D. Koravi Gopanaju 4, Kreedabhi-ramamu

5. Siddheswara-
charitramu

% 808 SSondoi B AirE Korres
edS8HE :

Sitons 2tré; iodo
A Sgorody 1 Podbhe S8y -
B. Ssvgharthth 2. DOSSS cryBody
C. sRITE 3. AeHens J08sn

D. F5dRSorw 4. fodonm
5. D348 s

Choose the correct answer :

53 earad DoHEHiin :

(1) A-3;B-5;C-1;D-3

(2) A-5;B-3; CH4; D-1

(3) A-4;B-1;C-5;D-2

(4) A-2; B4; C-1; D-5
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Match the following books and authors :
Book Author
A. Tokkudu banda 1. Annavaram
Devendar
B. Mankamma Thota 2. Gogu Shyamala
Labour Adda
C. Jeevitam Oka 3. TKrishna
Udyamam Murthy Yadav
D. Enuganta 4. S8.V.Satya-
Tandrikanna narayana
Yekulabuttanta
Talli Nayam
5. Joopaka
Subhadra
800 Pired 8 SSondes® $aDdie0l:
Do SiSond
A. &5 ol 1. osto ddcsh
Doyt 86 2. A egde
o
Aozl aldpho 3. B.€R5m0 arES
D. d%Nof dod ¥y 4. IR.D. Segvoedhem
i‘oémznégoé 1))
Ndba
5. evearX Soghts
Choose the correct answer :
2% earanid woihS Mod:
(1) A-3; B-1; C4;D-2
(2) A-l; B-2; C3;D4
(3) A-5; B-1; C-2;D-3
(4) A4; B-2; C-1;D-5

Which one of the following is NOT a book
written by Jeelani Bano ?

(1) Patharon ki Barish (2) Aiwam-e-Ghazal
(3) Naghme ka Safar (4) Pinjar
& 808 H3Tost 8ord o K% 508 5B?

(1) »86% 8ero]
(3) &ysv556

(2) ord-2-dad
(4) SHomb

|
!
|
|
l
|
|
|
I
l
i
l

7
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Which of following statements are INCORRECT

regarding the Ramappa Temple ?

A. It was built by Rudra Deva.

B. Itis a Shiva Temple.

C. Perini Dance Postures are carved in the
Temple.

D. It was declared as a World Heritage
Monument by the UNESCO in 2020,

Choose the correct answer :

(1) B&Conly (2) A, C&Donly

(3) A&Donly (4) A,B& Conly

ook Barodho 1HBoD & 0B AE° DD $350

s ?

A & Drodierd) B B35 W00 0.

B. &8 daroddo.

C. 0B Xy gohdod & Baveodhod
i S5 0e v

D. & awadﬁ?ﬁ& 20206  (Gibods Clets T 1y
Statfore dndRf, BE¥dodod.

0TS eararsd QoiHE b :

(1) B&CaErsd
(3) A&D&mgd

(2) A C&Dorgd
(4) A, B&Cshmsd

Which among the following castes was NOT
included in the “Ayagar” system during the

Kakatiya period ?

(1) Komati (2) Kummari

(3) Mangali (4) Kamsali
sE8ane Soo T8 “edirmy” $596° & dob
Herod® 08 By Bth ?

(1) 58 @) &30

(3) Soohd (4) BoFr®

In which of the following places did Sarvai
Papanna built his Forts ?

A. Thatikonda B. Shapuram

C. Geesukonda D. Vemulakonda
Choose the correct answer :

(1) B,C&Donly (2) A,B&Conly
(3) A& Conly (4) A,B&D only

6808 5 Progros® oman F%) S 06,00
et ?

A, edtal B. arsHto
C. AxFod D. 3swesof
RN exareanid oS i:

(1) B,C&D&rgdb (2) A B&Cérgd
(3) A&Cirgsd (4) A,B&DSrg$d

y
k8210
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Which of the following statements regarding

Sammakka-Saaralamma Jatara are correct ?

A. Sammakka-Saaralamma Jatara begins at
Medaram,

B. It commemorates the fight of two sisters,
Sammakka and Saaralamma.

C. Jampanna was the brother of Sammakka.

D. The actual festival begins during the month
of Magha, on Suddha Pournami,

Choose the correct answer :

(1) A&Donly (2) A,B&Conly

(3) B&Conly (4) B,C&Donly

Ko 8, - roroi; erdtb Somobod & 8ob >as I

8350597 ]

A. mgg-ﬂ‘ﬂ'ﬂéna o olite] Dsast
ErdodiSi&ob.

B. b X5, ool agth Rubime
Porird) $,80t%Hokn0B.

C. 20358 55kE) Lo,

D. een HoK Srdo Sres® HF JEMH >
BT od.

R0 sarensd QowE dm :

(1) A&DSmgd  (2) A, B&CHrgdh

(3) B&C&$d  (4) B, C&DSrEdh

Consider the following about Sufism in
Telangana and  identify the INCOR T
statemnent :

(1) The Sufi Saints propagated the composite
culture and unity between Hindus and
Muslims.

(2) Kankhas are the Tombs of the Sufi Saints,

(3) Dargah of Hazrath Baba Sharfuddin
Suhrwardi is at Pahadi Sharif, Hyderabad.

(4) Shaik Baba Sharfuddin and Shiabuddin |
propagated Sufism during the Qutub Shahi
period.

"Boorrnd® drbonardd” HSomobdod & 8ob

0 HOKSB0D, SHPL HELSD KBS0l : I

() &b 28 Hhgem Srote-sohon i
HFS S0P, HEEDH Brso Jew.

(2) seopren S S8 DD SHvthen.

(3) Ted e KBS HIUE oo
et PO HFE 165 55 658

(4) HBHS rireo coos® A e JWES,
BArfS b WerR) Bardo Sk,

ElR=

-
.

O} g8
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Match the following Films with their Directors :

Film Dircctor

A. Dorasaani I. Nimmala
Shankar

B. Matti Manuhsulu 2. K.V.R.
Mahendra

C. Jai Bholo Telangana 3. Raj
Rachakonda

D. Mallesham 4. B. Narsing Rao

5. Shyam Benegal
& 8ob Do aedd cﬁﬁaﬁmﬁﬁ a2aldhain:

S SEED

A, B8R 1. Qe #o8b

B. i Hrbipen 2. 3966 Hirol

C. 8&8°%" Boorrea 3. ool el

D. Hiddo 4. B.580R oo5

5. a9 BIKE

Choose the correct answer :
RIS e QomETHEN | -~

(1) A-2;B4,C-1;D-3
(2) A-5;B-3;C-4; D-1
(3) A-3; B4; C-2; D-1
(4) A-4;B-5;C-1,D-2

‘eVTOL Technology’ is related to which field ?
(I} Microbiology

(2) Biofuel Production

(3) Aviation

(4) Semi-conductor manufacturing
‘eVTOL  roS8¥  Bapdo’

020800038 7

& Borrdd

() wrgdsego

(2) &Nmodso adyd
(3) DSrSdErSo

(@) efirwoscrd

_\ — —
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23.

c 0o w >

Consider the following in view of PSLV-C53 -

A. It was launched from the second launch pad of
Satish Dhawan Space Centre on June 50, 2022.

B. It is the dedicated commercial mission of
Antrix Corporation.

C. The launch vehicle carried three satellites from
Singapore, namely DS-EQ, NeuSAR, Scoob-1.

Choose the correct answer :

(1) A&Conly (2) A&Bonly

(3) AB&C (4) B & Conly

PSLV-C53 Syap; &3 Bob ardd Horidodol ;

A. 8 %85 sl [R Dokb (SDSC) &%
Ootiderod B Sof e 302022 3
marhosadod.

B. a8 ¢bo@f) STOES 8 pand® IHGS
arefezg RN,

C. Dol sod DS-EO, NeuSAR, Scoob-1 &3
it S5k Sariel TS 2300b.

{08 marend JocHE !

(1) A&CSrEd (2) A&BSrSD

(3) A,B&C (4) B&C&Ed

On a cold day, during an early breakfast of bread
with Ketchup, one would have noticed that the
ketchup barely moves out of the bottle. A little
warming of the Ketchup would solve the
problem. Which of the following statement
makes sense in the above context ?

. Liguids become less viscous during high temperature.

Kinetic energy of the molecules increases with
temperature.
Liquid resistance to flow increases with increasing
temperalure.
Kinetic energy counteracts the intermolecular forces.
Choose the correct answer :
(1) A,B&D only (2) A&Bonly
(3) A,B,C&D (4) A, C&Donly
2. Bsaﬂdgﬁ) adabed @E, 358 werEFto Bl

50006°, S o8 3 Jodtr cobb THEe
860 Koo a:BRob. wond 355 H FHr 48
33 Gdy HodRSHGEod. B Kolitor Sob
T8 O BE6I w3080 A0&008?

. 858 SFFES 50hos® Baren 8B EROMT SrbEra.
. SREHEE whe K8 €8 DthrbEHoB.

. B0y RPIISE® S8 it NE°EEE 0.
. 18 48 0odt vmw aered @88k,

XO@N earadh JoHE R |
(1) A,B&D&mgd (2) A&BIrEd
3) AB,C&D (4) A, C&DSrsd

| — T N e e e BEE BN SO

| 25.

2
=

GET IT ON
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What would happen to earth if the sun suddenly
disappears 7

A. The earth immediately experiences the lack
of sun light.

B. The earth experiences the lack of sun light
after about eight minutes.

C. The earth immediately experiences the lack
of gravitation.

D. The carth experiences the lack of
gravitation after about eight minutes.

Choose the correct answer :

(1) Bé&Conly {(2) A& Conly

(3) B& Donly (4) A& Donly
gyt e DB gDl DdHdod?

A, g Jowd SrEEeN Sk ibob.

B. 2y ooovR) SO ddde  dovd
Amg880 %% 8o,

C. D Jo03 rhhevsdmd 5660,

D, @ oo VB Addre  Hogd
rothargédein 5585 Hab.

=
3B earenid Do D& HE :

(1) B&Csmgd (2) A&CErEd

(3) Bé&DSrad 4) A&DIsd

The correct order of velocity of sound in the
media — water, iron, vapour and air is :

(1) water > vapour > air > iron
(2) water > iron > vapour > air
(3)
(4)
0, modw, 08 696, ™o drsses® i) I
HoeobodS SO Bivdn:

(1)
(2)
(3)
4

iron > air > vapour > water

iron > water > vapour > air

%> HS 028 > e > nihiin
56 > ao3n > HS 828 > md
B3 > o >AB 8B > D
adsdn > 0% > S8 s > D
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27.  Match List-1 with List-2 and select the correct

answer using the codes given below :

List-1
(Defect of vision)
A, Myopia
B. Hypermetropia

Presbyopia

\

D. Astigmatism

2,

(Corrective lens)

|
|
I
List-2 '
|
Bi-convex lens
Bi-concave lens
Cylindrical lens

Concave-

convex lens

|
B0 by 5% aS@PA0D, erDev-1 D erdes-2 & fl

2ED0D, SOEN wTeriH JothE sy |

erDas-1
(5,3 650
A, @S58y
B. 8565
C. Sedo
D. ebmrdao

A-2;B-1; C4; D-3

A-1; B-2; C-3; D4

A-4; B-2; C-1; D-4

A-4; B-3; C-2; D-1

erder-2
(%580 Be¥o)
Bs-Boersd Kiko

By-Jersrd %o

Sraesed S6¥o

28.

Match the key-boards with their layouts :

Type of Layout
Key-Board
A, QWERTY I. Vowels on left hand
side and most used
consonamis  on  right
hand side
B. Dvorak 2. Letters amanged in
square patterns
C. Dextr 3. Letters start with Q,
W,E R, T, and so on
D. KALQ 4. Optimized for thumb
typing
5. Keys in alphabetical
order
§-6"5 b 8 B8 sodbuycd.
§ 6°5 vss LR
A. QWERTY 1. 2638 3% o

(vowels), 25Srw
S3@=A0S sreyeo

(consonenis) L3

B. Dvorak 2. S&Srdost
©N8 by eSorm

C. Dextr 3. Q. W, E R, Tercél
T8 Inded; o5t

D. KALQ 4. God Bhof %50 @l
Bcbelod

5. wfdire Eod® dovte
3&‘3533:5_‘; Ao

Choose the correct answer

TN 2P a0l oS Kn:

(1) A-3,B-1,C-5. D4

(2) A-3,B-4, C-2, D-5

(3) A-3,B4,C-1,D-2

(4) A-3, B2, C-5, D-1
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T 0w

w

. 8% s VI a,
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Which of the following organizations set the
standards and naming rules to be adopted on the
internet ?

A. The Internet Society

B. International Organization
Standards (IOIS)

American  Association
Protocols

The Intemet Corporation for Assigned
Names & Numbers (ICANN)

Choose the correct answer :

(1) B&Donly (2) A,C&Donly

(3) A&Donly (4) A,Bé&Conly
©08Tro0(B0635 )& Jouofod eRNOOTOR

Pdreren, DodSrod 808 885 D B0 /en
trerobinod /GrEroddran:

A. BzoLByS pd

B. =206303¢8 o3dal 66 aobdylS Fosf,
(1018)

oDBES oFREHHT $8 vowty Fefed

B motB)tS ETES $8 WS A & Soak)
(ICANN)

HBELN warendy JohE dw:

(1) B&D&ED () A C&Dsrgd
() A&Dsrgd  (4) A B&CSmEdH

Match the below products of biotechnology with
their application for treatment of various
discascs/disorders.
Interleukins 1.
Insulin 2.
Tissue plasminogen 3.
activator
Blood factor VIl 4,

for Internet

for Internet

D.

C.
D,

Treating Haemophilia
Treating cancer
Treating diabetes

stroke

Treating [epmsy
&5 Jo8BE DHEDS aei‘}av;‘m Lo o D GEDS

TyHo iR SEEeAr HHS aRAR.
TR SO HHHO® 2EHHSHK.

aobb el SrRrhbabe D8,
208 2. %5 D88,

Emerod  pREiEl DS B D84,
aldes

[ 7% ]

rooBen D88,
5. SHipad 08

Chaose the correct answer ;

JOGHS arenih JoHE N :

(1) A-2,B-3,C4,D-1 (2) A-5,B-3,C-2,D4
(3) A-2,B4,C-3,D-1 (4) A4,B-3,C-1,D-2

Treating heart attacks and

. ———_ —— e — - — ——. R, S 5 mi. S

11

3

3

3

1.

2.

3.

Match the following bases as per their usage :

A, Ammonium 1. Fire extinguisher
Hydroxide

B. Sodium 2. DBleaching powder
Hydroxide

C. Calcium 3. Soap preparation
Hydroxide

D. Aluminium 4. Removing grease
Hydroxide stains

BIO3S Broresd a0 AVArK0 eprborr wdNddod.,

A odrddbo PERE 1. M ddso

B. lado rrref 2, i}zﬁoﬁ b

C. sddho FreEgf 3. Deny Bt

D. werndabo 4, (fer 850
Fag sl Fohod

Choose the correct answer :

ST ey JoDHE dn:

(1) A-4 B-3 C-2 D-1

(2) A-4 B-1 C-2 D-3

(3) A4 B-1 C3 D-2

(4) A-4 B-3 C-1 D-2

IIT Kharagpur researchers developed eco-

friendly food packaging material with which one
of the following ?

(1) CucumberPeels (2) Banana Peels

(3) Cow Dung (4) Banana Stem
008, p8f P =H & Scd 85D T8

ot ohire HE  AE2cf  SHHed
SeirBDdTE 7
(1) &Fsead &FEen
(3) 650l

(2) 8885w
4) w88 =odo

Examples of WVoluntary Standards (Indian
Standards) adopted based on International Codex
Alimentarius with suitable modifications.

(1) Milk & Milk Product Order

(2) Bureau of Indian Standards & AGMARK
(3) Standards Weights& Measures Act

(4) Fruit Product Order

Y 38mos’ acbiisd 5508 edDotrbdbh

sprdore ool Poly (wolubl Aouf,)
Do Tohurpon. 0 DD ?

(1) Dby & nd) FuEadb

(2) w6’ b noldSl Fokf, & of 5o8)

(3) Froish JomeSy, Desby el

(4) &8 U wsd
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34. Consider the following statements in view of I 36.

rusting of Iron ;
A.  Ttis chemically named as Iron Oxide. ’
B. Rusting is considered as a chemical change. ]
C. Zinc is coated on iron articles to prevent '
them from rusting,.
Choose the correct answer : I
(2) A&B only |
|

I

|

(1) AB&CEFED (2) A&BIrEdD
(4) B&Cimpd

(1) A &Conly
(3) A,BandC (4) B & Conly
ady BEp ShKo Sy & Gobd el | 37,
$88D0S0k. n
A 8D 8308 o 085 CEN ,
B. 2%p Sbdo S1cHA Irsym om0 C
athihoh, b
C. &gy Eg.__‘:éac!:‘ 208 HRPeR o e
Gedrih.
3 2arandd JoHE HHw:
() A&CHEDd  (2) A&BSrsdh
(3) AAB&C (4) B&CErgd
A
35. With reference to the isotopes of elements,
consider the following statements
A. The isotopes of cobalt are used in the
treatment of cancer.
B. The isotopes of iron are used in the
diagnosis of anemia,
C. The isotopes of uranium are used as fuel in
nuclear reactors,
D. The isotopes of iodine arc used in the
treatment of Hepatitis A.
Choose the correct answer :
(1) A,B&Conly (2) A&Bonly
(3) A/B,C&D (4) B &Conly 18,
Srore off’h o Sowodod, Bob mmi
HBXBood ;
A. S oD ol 52565 08,6F
SBAFARRD. I
B. 2080 oS o 85bri8 shget
BRAPATL.
C. dBRabo wfe’S o wm Bairgge® 39.
BOFROMT ADEFATD. I
D. ©@riSodiss o HE8%-2 038,88 ,
BAARAPD. ]
BN wreni Do dn: }

(3) A,B,C&D

O w

=

GET IT ON
Google Play

Mother’s breast milk provides immunity to new-
born babies because it contains :

(1) Immunoglobulin A (2) Immunoglobulin E
(3) Immunoglobulin G (4) Immunoglobulin M
8 By dren Siberd 2P0 SHIGTEE 50
©oDF 00, J0hEE ot Aods:

() odFfedS A (2) =bFamoSE
() =5iFFodSG (@) =5FRads M

Consider the following in relation to the ‘Monk
Fruit™;

. The monk fruit is known for its properties as non-

caloric natural sweetener.

- Originally the monk fruit is cultivated in China.
. The cultivation of monk fruit is taken up for the

first time in India in the state ol Himachal Pradesh,

. The cultivation of the monk fruil in India is

supervised by the Institute of Himalayan Bio-
resource Technology,
Choose the correct answer :
(1) B,C& Donly (2) A,B&Conly
(3) A/B,C&D (4) A, C&Donly
‘@& Poo'(Monk fruithh Bomobod & Eod

TR Kool :

. BobeoBD Sirer 8D oFerer BOR Gobod® dHb

$oo @HRY.
RTRE ChE Hvo M Bard® athibibod.
TESETOL? 4B Bere 1D FOI0 SSeIS 588 &8
IS, y
TSEdiost b Yoo D =0herS
PEAROUDLS ackr-BR%E, B0 ot S8R,
A5% estrandoh Sk |
(1) B,C&Dar@d (2) A, B&Cérgd
(3) AB.C&D (#) A C&D&rgdH
Before transtusion of blood, every unit of donor blood
is NOT tested for one of the following diseases :
(1} Cancer (2) HepatitisB & C
(3) Syphilis (4) HIV
88 808 dmoth, ord ad) B8 S50 S 0B
Tyes® B0 E5%0 880 wiich ?
(1) %6 (2) TSRESD&Y
(3) 25T (4) rSed
‘Graves disease’ is caused due to excess
production of which of the following hormone ?
(1) Thyroxin (2) Parathormone
(3) Growth hormone (4) Insulin
% 500 2 $50%8 © 948 688 ssworr 'AS, =0

H087?
(1) go&5
(3) & 65,8

n
(13
€0

(2) yooget’,S
(4) =508
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40.

41.

Match the following :
Tree Usage
A. Ashwagandha 1. Medicine for Blood

Pressure

B. Sarpagandha 2. Medicine for Jaundice

C. Nela usiri 3. Medicine for Nervous
weakness
D. Brahmi 4. Medicine for Abdominal
pain
5. Improves memory
S 30b a8 addthhsm
3&:3 ad@APKo
A. wdsiod L. 85 &5tk foth
B. 5850t 2. 28 508 ooth
C. Foads 3. dore 2olrsss Lol
D. erie; 4. 5thH T8 Sotd

5. =58 480 vodrohosio
Chuose the correct answer *
ROGHE aaran Joths ky:
(1) A-5,B-4,C-2,D-3
(2) A-1,B-2,C-3,D4
(3) A-3,B-1,C-2,D4
(4) A-3,B-1,C-2,D-5

Match  the

following Covid-19  vaccines
according to their nature :
List-1 List-2
A. Pfizer 1. Plasmid DNA
B. Covaxin 2. Inactive Vaccine
C. Spumnik-V 3. RNA Vaccine
D. Zykov-D 4. Adenovirus based Vaccine

8008°08-19 8 5o 8 Kgrso sgbors
2358504,

erdav-1 eeflae-2
A ab L >yEEa5
B. =05 2. ancwrasde
C. &8EV 3 e535ade
D. g8%8-D 4 woF355eresde
Choose the correct answer
HBELY agreanid JoHE s

(1) A-3 B2 C4 D-l
(2) A4 B-3 C-2 D-1
(3) A-3 B4 C-1 D2
(4) A4 B2 C-1 D-3

|
J
|
|
|
|
|
|
J
|
|
|

J
|
|
I
|
l

I
|
|
!
|
!
|
|
|
i
i
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42,

43.

A,

B.

o

D.

o 0w >

What is “Happy Hypoxia” 9
1) The condition where you may not realise

your oxygen levels are crashing,

(2) Is a Hormone released by brain when you
feel utmost happincss.

(3) The condition where you may not realise
your blood sugar levels are falling.

(4) The fecling of mind when you have
_accidentally survived from the death.

5% By el 350 7

(1) o w=&uS Poven DEVHaAHD itk
HSR0S8R 5658,

(2) D% ©LODE wHomrR) ERGORBHHO
DS Dise Td 2.8 65,5,

() v Aoyove HEDHTIHD

AST0SE HBFH.

Qoo Hbmo Dol ewHor odbb

BESPO 9578 Dood §rSs.

Consider the following statements in relation to
the newly developed solar powered survey craft
for ports and inland waterways :
This is developed by the National Technology Centre
for Ports, Waterways and Coasts in [IT Madras.
This is developed by the National Institute of
Ports, Waterways and Vessels, Cochin.
This is an unmanned autonomous survey craft and can
be used (o ease maritime traffic cven in shallow water,
The Craft does the hydrographic  and
oceanographic surveys and provide real-time data
transmission over long distance.
Choose the correct answer :
(1) A& Donly (2) A, C&Donly
(3) B&Donly (4) B,Cé&Donly
LiSHen, wosls we Irre 505 8% g

@50 SV F5 88 583 &5 (dbogo)s
Howohod S Sobarsmseid HBKBotod ;
GO0 008 Dk 650 3556 Bevyed novb 98
8, =06 3 wok E%) T8 058 Dharth.
870 J53s8 RS ©f HFE,, b 35 wok
BSOS oD B,
B0 SrS5ErE, JyboRana Ke g/ dSogo. 50D
IR DBE® S50 Bareeid BootiBto Achond
ErTe ABAPAOSSS0.
& 5§/ cbogo rENTRE, LT s SBsen
Sctbifets, JS Erdo ES-SRah Bir ErRER
Sabrenrtsot.
RGN earaoi doth&in:
(1) A&Dzrgd
(3) B & D Srgd

(4)

(2) A, C&D &g
(4) B,C&D&rgd
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44.  Which of the following arc major divisions of l 47.  Which of the following are National Waterways

ocean floor ? l in India ?

A. Continental shelf B. Continental slope A. Haldia to Allahabad on river Ganga.

C. Deep sea plain D. Ocean arcs B. Geonkhali Charbatia stretich of East Coast

E. Ocean deeps Canal

Choosc the correct answer : C. Dhubri to Sadiya on river Brahmaputra.

(1) A,B,D&Eonly (2) A,B,C&Donly D. West Coast Canal from Kottapuram to Kollam.

(3) AB.CCD&E (4) A,B,C&Eonly Choose the correct answer :

Bob =86 Sl elid o™ Hovd (1) C& D only () A,B&Conly

NePrmed 90 ? (3) A,B,C&D (4) A,B&Donly
“ A sodobs 28 & B0 a8d* DD 18 D08 et wo Sropen?
’ B. mo#3obd ey A. HorrS82% Mo &rDdie ol welferth dro.
) C. &8s sdnE Dwesdo B. &ri) 85 grod senis 6% d@rond SovySab

D. &fwdFaHen srgo.

E. S5m8% emrme C. s SARS e ) Dok Shch S,

48 marmd Dot bn: . I D. $8)® 850 e @rodost £ Do ol

K

(1) A B.D&E srgd | DERNED,

(3) A,B,C,D&E () C&D&mgd  (2) A, B&CIrED

(4) A, B,C&E Srgsd l (3) AB,C&D (4) A, B&D drgd

45.  The dry aromatic roots of which of the following | 48. Match the following Mines of India with their

crops are used to make mats, curtains and fads respective Mineral production :
ele. ? ' Mine Mineral =
(1) Palmarosa grass  (2) Mint A. Kodingamali, Odisha I. Copper
(3) Paichoulj (4) Vetiver B. Malanjkhand, Madhya Pradesh 2. Iron
ot 6’ O Bow Ggy 8% iriod jﬁ& C. Kunderkocha, JTharkhand 3. Bauxite
Smebn, 3% DBdy gl Hod a8 BdinbS D. Bailadila, Chhattisgarh 4. Gold
ASHAPATD 7 5. Lead & Zinc
(1) s @%b ' & BoB PEIGT Moo 0 658 3D wderes®
() #30 (4) 3055 i
fat4] PR0
46. The Cabinet Committee on Economic Affairs A, SCordrD, LA . oh
(CCEA) chaired by the Prim¢ Minister has B. Hherof ok HitasSE 2. @%s
approved the increase in the Minimum Support I ' o wok, SEgEes ’ P
Prices (MSP) for Marketing Season 2022-23 for C. %0@65%S, erfol 3. egyS
the following number of Kharif crops : I D. Beler, 38508 4. mormdo
(1) All Kharifcrops (2) 14 Kharif crops =
5. %o, 8r%0

B S0P eFBe6N 6B HHTo ehAE

S0 202223 £r5)80R b % mH I w85 3 BaTPR0D Qo B8 D!

Hotuth S D gooH Dodod ? ' (1) A-5;B-4;C-2;D-3

(1) oYysbSoben (2) 14285 Howen I| (2) A-3;B-1;C4,D-2°
I

Chaose the correct answer ;

(3) 4 Kharif crops (4) 24 Kharif crops I

(3y A-2;B-5;C-1; D3
v BT -
(3) 40bS%csen  (4) 24085 Boben (4) A-d: B-3: C-5: D2

+ A 14
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49.  The Sargasso Sea is located in : 52,  Consider the following statements :
(1) South Indian Ocean A. The southward shift of counter equatorial
(2) North Atlantic Ocean warm ocean current during southern winters
(3) North Indian Ocean give rise 1o El Nino current.

B. El Nino phenomena increases temperature

(41 South Atlantic Oc
2 P et of East Pacific Ocean off Peruvian coast.

5Py & < ? ino bri i
SR Sdwgio S5 4od C. ElNino brings heavy rainfall to coastal Peru.
(1) &8 Srotir Sodfidmlo D. South-west monsoons in India weaken
(2) A8E werotE SrFshntio _ When Ll Nino phenomena takes place.
ERE Choose the correct statements :
(3) @ddirolr S Bo (1) A, B&Conly (2) A&Bonly
v o (3) A,B,C&D (4) B&Conly
WL s S Bot Ty HERB0S0A |
50.  Which of the following is NOT the peak of l A, 8w agﬁaﬁocﬁs dorswod® Tobb
E’;f;fstjrn dihatz ? S— - &BP0uhS SEmgl espanro Bim 39
indhagada ) Kalsubai : K G
(3) Salher (4) Pushpagir HFtod® 38 AT Herardl 1dSed.
5808 88 H85 S5Hes® o 08 D8 ? B. 6 0% Berso S0 Srd) HHBE Setsmsh
(1) Botinis (2) Hegyerdd DR st AEEHS DEEH0E.
3) .-5;51'5 ) SHAe C. 25 T Pordod H 88 @rodod® b
5§1.  Match the following Medium Irrigation Proj o ReR.
' atch the following Medium Irrigation Projects - -
of Telangana with their lncations : D. w¥sddos” 8 AT gosed® e
Pruject Location anihidare aofrdideran.
A. Boggulavagu 1. Dharpalli  Mandal, SOES Ted JohE Ky
Nizamabad Dist. el % 3
B. Gollavagu 2. Pennballi Mandal, (1) AB&CarS (2) A&B w@a’
Khammam Dist. 3) AABC&D (4) B & C&miEsh
C. Lankasagar 3. Malhar Rao Mandal, . .
Jayashankar- 53.  Consider the following statements :

A. One of the causes of Global warming is
greenhouse effect,

B. The atmosphere absorbs part of the long wave
infra-red radiation emitted by the carth.

C. The gases that absorbs long wave terrestrial
radiation are called as greenhouse gases.

D. Carbon dioxide and Nitrous oxide are

Bhupalapalli Dist.
D. Ramadugu 4. Kotepalli Mandal,
Vikarabad Dist.
5. Bheemaram Mandal,
Manchiryal Dist.
& Sob Bworrnd'd DG S5 D8 S

SaHod > é;m‘eﬁs BBHGSHID greenhouse producing gases.
@aﬁ% Fs0 Choose the correct statements -
- (1) A, B&Conly (2) A&Bonly
A. ﬁ‘f@&ﬂ‘ﬁ} l. l':lﬁ f) mcﬁﬂu Deriearh (1} ARCA&D ‘(4) A& C0n|y
Bep. £ob mrgmpeih H0KBoSol :
B. Fear 2.
C. cofiE 3. HgbodHoteo, B. @ersbeso, drd S0l Jeodd Y Stok Hordes

(infra-red) D8Bmods® S0 grred) 1idrob.
C. D88 ag dsorred Kirod Tduges s

ead:’xyiioés EirareBD Bep
D. o 4. E830 Dokwo, Doeerl

e Ky (A% °8) srdinihen votedh.
5. Dirdo Sootieo, D. 55 dotr3)f, Red wBth 508 iy (B8 ¥7R)
Soodove Bep el b araieden.

Choose the correct answer |

RO aaraed JohE NN

(1) A-5;B-3;C4;D-2 (2) A4;B-2:C ,
(3) A-3;B-5;C-2;D-1 (4) A-2; B-4;C-5:

BO@H TR JoHE K |
(1) A B&C#mgid (2) A&Bsrgdh

|
|
|
|
|
|
l
|
280, Dookvo,pdp0 S i A. grgedD8 el sdmo irbdn 3 (AS I7R) @erdo.
|
|
|
|
|
|
|
| (3) AB,C&D  (4) A&Csrgd

15 PO
510
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54.  Which of the following districts of Telangana
has the border with Karnataka ?
A. Vikarabad B. Narayanpet
C. Medak D. Jlogulamba-Gadwal
Choose the correct answer :
(13 A, B&Donly (2) A,B&Conly
(3) AB,C&D (49 A, C&Donly
BoorrrE™D & Bob D depen Eoptsa° S0 then
=100 Aa00 ? ,l

A, Dsorerd B. modbmme
C. Dt D. &%wron-Kovd
3% agrad JoHESd:

(1) AB&D&SmED (2) A,B&CSngd
(3) A,B,C&D (4) A, C&DfimgEdh

55.  March the important mountain peaks with their !
location in the Andaman and Nicobar Islands -
A. Saddle Peak 1. North Andaman
B. Mount Diavolo 2. Middle Andaman
C. Mount Koyob 3. South Andaman
D. Mount Thuiller 4. Great Nicobar
©odSrS, b AHos® &y Pord B
B0 8 F08® el
A FEELE 1. 638 wolksrs
B. &Pof Surds® 2. fgwosErS
C. &l 8 @rd 3. 58 wotdsrS
D. o Sronveb 4. (& 08%rE

Select the correct answer :
388 NSrorard oSl
(1) A-1,B-2,C-3,D-4
(2) A-4,RB-3, C-2, D-1
(3) A-2,B-4,C-1,D-3 N
(4) A-2,B-1, C-4,D-3

56.  Genome Valley in Hyderabad is a : ,
(1) Ecotourism site
(2) Amusement Park
(3) Textile park
(4) Biotech /life science cluster
TS dth oo :

(1) =& erdao pdS

(2) DTS amEssso

(3) B§ BE &5,

(4) odr85 /85 RY, K6

-l-g%g-:r 16
(5] 3

s — —— . S e

57.

GET IT ON
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Match the following :
Place Craft/Industry

A, Karimnagar 1. Panting

B. Pochampally 2. Metal Craft

C. Pembarnhi 3 Ikat

. Nirmal 4. Silver Filigree
5. Carpets

800 0 wSiES0s

Herdo 8¢ /30D

A. 5BoxnE l. DavoBohk

B. &30%0 2 3:&35@'“%

C. ownd 3. =84

D. 25 4. hob DA
5. dzden

Choosc the correct option :

BOGE evarani JoihE od:

(1) A-2,B-1,C-3,D-5

(2) A-1,B-2,C-3,D4

(3) A-4,B-3,C-2, D-1

(4) A-1,B-2,C4,D-5

Consider the following in relation to

Kaleshwaram Project :

A, Construction of one barrage across river.
Godavari at Medigadda.

B. Construction of two barrages between
Medigadda and Sripada Yellampally
project at Annaram and Sundilla.

C. Construction of one barrage on river
Manjeera at Papannapet,

D.  Kaleshwaram stabilizes the exisiting ayacut
under SRSP Stage 1 & 11.

Choose the correct answer :

(1Y A C&Donly (2) A,B& Conly

(3) A B,C&D (4) A,B&Donly

Tdo @E%H Lomofod & 80b 8D

Fifalats-latnlala

A DERE S5 P d8 66 6.8 emBd Suvso.

B. wwdc, wobg 3§ D&KY, 5 dpobd
EED 5t Soth ersBdo Dovymo.

e -‘w;i:ﬁ:fm 38 swodoe 567 o8 &m0 Jovyo.

D. w880 SRSP 4 1 & 11 Sotf Gigifo &y
bt HOEOR00.

SER aaranh JohE ED:

(1) A,C&D&@d (2) A B&CIrsd

(3) AB.C&D (4) A, B& D sSmgd

a5
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Point B is 3 meters North of Point A, Point C is 3
meters West of Point B. Point D is 6 meters
South of Pomnt C. Point E is 11 meters East of
Point D. Point E is how far (minimum distance)
and in which direction to Point B ?

(1) 8m,North-East (2) 14 m, East

(3) 8 m, South (4) 10 m, South-Fast

B dronotl, A drowoSs agoed 3 Soed drdos®
aol. C drawodl, B rowots § H8ird 3 bl
drtod® aob. D Jrowots C dronoSs B8 6
G drBod® aod. E SrowoeS, D owos §
&ebpd 11 bl &rBos® aocd. ravod E,
Fravod B 8 dok ¥4 érod®, D BEE ab?
(1) 8, &S0 (2) 14,808y

(3) 8%, 88wo () 10 &, efyao

Following question is based on the table given
below, which gives the sales of Supermarkets
from 2015-16 to 2020-21.

Bob &Yy 2015-16 %ol 2020-21 8% DO
6 Srgpfe edsreih 0o Bob :J%:-g'g’g

L laareat-TelaR
Sales of Supermarkets (in Rupees Crores)
Dl S8y 0 0l ren (Fesh

Year/
nodd o

| 201516

_ Supermarkew/ 3r08 SrTpéy
Prasanthi/| Krishna/ Mnhesll.fl Ramya/| Suguna/
Bwrod | 87 | HrF | 8y | Sotbw

400 2R0 320 470 320

201617

2M7-18

480 300 200 | sw 350
a0 420 S80 | 680 320

2018-19

770 480 600 | 720 440

2019-20

560 500 840 | 900 650

2020-21

50 730 790 | 920 700

61.

In the year 2017-18, what is the approximate
share of Mahesh Supermarket out of the total
sales of all the Supermarkets? '

2017-18 Sod&yBod®, &) &rab g Se Ingo
ededt BTk Nk 3058 i DErkmr
wod gdc ?
(N 22% (2) 19%
(3) 23% I

What will be the next letter in the following
series 7

& 800 33’ Stvard 53, wEG0 06 7
Z.X.S,LR. R G,?

(1y 1
3) M

(2) H
@ K

e e Wt S e iy e v i s i

17
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Study the following graph pertaining to sales
percentage of Branded and Assembled PCs
sold during 2015 to 2021 and answer the
question given below.

Total PCs (Brandcd and Assembled together)
sold in the year 2015 was 2,00,000 and total
sales of computers were increased at the rate of
10 % per every year.

Bob (5 Hbod® 2015 Lol 2021 L85 el
ot IGRE BodrpR, wdomd DEHS
Bogegef miysee ecared wgrdorr 3580 @od
PE% Sarero abiod.

2015 HoBE50E° ©luyd Erodh $8)%6 Solrid,
wRom$ HHIE Sofrgwd Indo edpsen
2,00,000. o Loyl wknsed® 58 Sodto
10% SP&pi Btibiie dob.

oy
&0
0
0
S0
40
0
20
11

=¥ Branded PCs
eroB@s b

i Assembled PCs
whaomd hb

2015 2016 2017 2018 2019 2020 2021
Year/ Ao3d 00

Ilow many Branded PCs were sold in the year
20167 ) i

2016 Sosgyos® dY) EroBl HYHS Sorhd
w‘ﬁ:&am:om ?
(1Y 72,000
(3) 78,000

80,000
88,000

(2)
4)

Each letter of the alphabet from Z, Y, X .... C, B,
A arc given values from 1, 2, 3..... 24, 25, 26
respectively, What is the total value (summation
of corresponding valucs) of the word "ANIMAL
SCIENCE" ?

Z,Y,X ... C, B, A& 58 wiodd Edore
L 2 B 24, 25, 26 Dot wdbd
“ANIMAL SCIENCE” o3 %o %, ando
QensS (Sowdd Devde Indo) Jod ?

(1) 243 (2) 108
(3) 208 (4) 143
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65.

¢

Ravi is a son of Anitha's father’s sister. Sumanth | 66.

is the son of Divya, who is the mother of
Ghanshyam and grandmother of Anitha.
Sumanth is Anitha’s father. Ashok is grandfather
of Ravi. Divya is the wife of Ashok. How is Ravi
related to Ghanshyam 7 ]

(1) Grandson / i2) Nephew

(3) Cousin (4) Son

6D, w8 ¥ dod g BEO HIEHD.
Ddegh g €D, L0 eNEs
S0y /TPy wown By G, T doh,
DW08, BNEDH Sold, w5, 58 ordddy, B
o35 3r;, 62, D3 © DHHEH ?

(1) sodsots (2) Hidentd

(3) %25 @) %

Study the Bar Chart given below to answer the
question.

Sale of the products of three different brands
in five (2001-2005) differeat years (in Lakh
pieces)

Bob erb T S08D0D BHH SSeTrHo wFol .
0t SoSErE? (2001-2005) St Bsve grofd
RomoBodis Sige ezt (Shde ofs’)

OsoB BD) PLIKE

2001 2002 2003 2004 2005

<

What is the ratio between increase of sales of
LIKE from 2001 to 2002 and decrease of sales of
BOB from 2003 to 20047

2001 %ol 2002 $5% LIKE winsve 28rhee,
2003 %ol 2004 $5% BOB siyswe sthibse
05 Koo DG Do ?

(1) 2:3 @) 1:2
G) 3:2 @ 2:1 y

|
|
I
I
I
|
I
|
I
|
|
|
|
|

1 F - ._
S 18
“aZim] :

67,

68.
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Identify the wrong fraction in the following
series :

Sob @BS° SHpre &k DamyR, vBotold

247 121622
3713 23'31° 43
16 22
M 3y @ 73
7 12
@ =3 @ 33
In a code language, “R” = 6, “x” = 8§ and

"PHYSICS” = 33. In the samc code language,
“PSYCHOLOGY™ will equal to ..,

o8 S8 pad® “R” = 6, "x” = 8§ 28dW
“PHYSICS” = 33 wmwond of S8 o8
“BSYCHOLOGY” Dens...

(1) 48.33
(3) 47.33

(2) 4933
(4) 46.33

At what time between 7 and 8§ o'clock will the
hands of a clock bee in the same straight line but,
not together ?

(1) 5|-’|-minmes past 7
(2) 3 min. past 7

25
(33 577 minutes past 7

(4) STzi‘ minutes past 7

.8 HAuEod® 7 Kotew, 8 Koted o Sod
dmehyen 2.8 0P 258 SoTe, J6¢ Bps® I
Godron ?

(1) 7Hobe 5111 Suipen

(2) 7riote 5 dbdrpen

(3) 7fotw 5%3303“&:

. 2
(4) 7robe ST Habares
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70.

71.

A, B, C, D, E and F are six members in a family
in which there are two married couples. A is the
brother of B and uncle of F, F is the only child of
D, C is the mother-in-law of D. C has one son
and one daughter. E is the husband of F.Which
of the following denctes male members in the
family ?

A, B, C, D, E 5u0ci F of ealirbdh &% Ko &8
Hevonod® Both Dorlrd mobien deyem. *A’, B3
Fetoth, Hbdn FH DErS/ ereron. 'F,D8
£3% Sooedo. 'O DE wgrrtn. C8 2.8 Sirhid, o5
©irg aonth. ‘', o 28, Sob 288 b
Sinonod®D S Kok Er0ikob?

(1) DEB (2) ADE
(3) DEC (4) ABD

In a certain code language,

(i) ‘pit nasa' means ‘you are welcome’

(ii) ‘naho pa la’ means ‘they are very good’

(iii) ‘ka dala’ means ‘who is good’

(iv) ‘od o pit la’ means ‘they welcome good
people’

Which of the following means ‘people’ in that

code language 7

2% B5E amnidh,

(i) ‘pitnasa’ wol ‘cin b Jey’

(i) *naho pala’ ©od ‘B b 38 B

(i) ‘kadala’ wod ‘S0 & G’

(iv) ‘od ho pit 1a’ wol) ‘B ey &o H0E bod

& 208 86 53’8 w S°E it 33N

a8 7

(1) ho

(3) pit

S Tale)

(2) od
(4) la

If *M" denotes */'; ‘K’ denotes ‘=’ ; ‘R’ denotes
*+' and ‘T" denotes ‘x’, then 12T8M 12R 16
Kl4=2?

2X3¢ 'M'D e KD e ‘RO TR

X e, SrOheRph 12TEMI2ZRI6K 14=7

(1) 10 (2) 48
(3) 20 (4) 38

|
!
|
|
|
|
|

19

!
l
|
|
|
|
|
|
|
|
|
|
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What is the term in the place of ‘?" in the
following series ?

8ol zlwdd @BdS® P 5:?:306‘ dofHohd Hfa
el ol

AYD, BVF, DRH, 7, KGL

(1) GLJ (2) GMJ

() HLK @ FMI

From the four positions of a dice given.below,
find the colour which is opposite'to Red ?

wllon range, Blue Red
g 2 5 2
Omange | = Viokt | 2 Red |2 Rose | 2
. "—.-
(1) Violet (2" Orange
(3) Rose*/ (4)/ Blue

Bots sl ¥ 08 GnE) renrd Fonded
o SR JhdH wdivgorr & Yorbi
B0l 7

B 2, Seo DDy
g 3 2 2
moox |t ) | e sy | vi) | doerdd |
(1) &soe (2) ~~bo=
(3) Hod (4) Heo

Bhushan starts from his house towards west. .
After walking a distance of 24 meters, he tuned
towards right and walked 20 meters. He then !
turned left and moving a distance of 10 meters,
turned to his left again and walked 30 meters. He
now lurns to the left and walks 10 meters. What
is the shortest distance between the current
position and his house (in meters) ?

Erad 83 nod ol JEDE I cdedod.
24 Sou8 Brdo SADR Sunsd ©E, 30 HAFHE
867 20 oD SA0. dod, edd DD
8eA 10 Dod 80, He L 80A
30 08 SEPD. BHPD, ¥ED JHITH BOA
10 Sneath SEaecd. w8 88 w08 Hold, siptd
&5 308 Jod ¥R Bt amyth (bedd”) ?
(2) 26

/[31—}"' 34

(1 44
3) 24



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24

%
)

75.

Eight people are sitting in two parallel rows
containing four people each, in such a way that
there is an equal distance between adjacent
persons. In row-1, Asha, Bheem, Chelsi and
Deep are seated (but not necessarily in the same
order) and all of them are facing South. In row-2,
Preet, Qureshi, Raunit and Sana are seated (but
not necessarily in the same order) and all of them
are facing North. Therefore, in the given seating
arrangement each member seated in a row faces
another member of the other row. Raunit sits
second to left of the person who faces Asha
Sana is an immediate neighbour of Raunit. Qnly
one person sits between Asha and Deep. One of
the immediate neighbours of Chelsi faces
Qureshi. Bheem does not sit at any of the
extreme ends of the line. Who amongst the
following faces Bheem ?

(1) Raunit (2) Preet

(3) Sana (4) Qureshi

SN0 0 Hihen, Toth SErosY SHNS e

SEis Seordd THPS BESES &%) Sghe 2
SEPS  Grfo Acdtyrt  SrfopEnth.  So88
shidtue, S, Bh), 65 o (a8 Edod®
shor) Bimo BY SrRR Pt Tokd
SRS, wdh, 08, 65 w (88 EXost
shor ) adto 3 Srkn Lty & ddorr
Both 3HRed® SrmyF) IPHed®, w8 SHHst
Bl 8 58 Soid SENE® ety JN6° el
9588 oldvporr Srl k. erd wddoporr
ey H88, b E§S Toff Pied TOE
EPty Ty, T8 B H5)& §rtod. v, 85 ©
D o8 &8 SrED Ldand. b 8 @43
ahdde &b até&eﬁ‘ 2.5 058 eddwpore
anh. H5 D 0g 0567 grehidm. 8ob ost

S5 wdvorr 5% daoy ?
(1) &8 (2) &8
(3) % (@) wdh

L 3
P10

I

20
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The symbols a, f, #, = and oo are used with the
following meanings :

R a 8§ implies that R is greater than S.

R S implies that R is lesser than S.

R # S implies that R is equal 10 S.

R = S implies that R is either greater than or
egual to 8.

R @ S implies that R is either lesser than or equal
to 5.

Based on the above statements, answer the
following :

Statements :

MaN,OfMMwP

Conclusions :
l. M=xP
in. Ofp

(1) Both the conclusions are true,

(2) Conclusion | is true but Il is false.

(3) Neither I nor I is true.

{(4) Conclusion 11 is true but I is false,

a, £ #, »o0em éo%‘;m en 808 @G;&aéaﬂ QTy00.

R a SedD R,S o DO 62 5000,
R 'S &30 R,S 08 05,0 00 drdkob.
R #Sof8 R, S % 6&rdo 6D &rdod

R+ S &30 R, S S0 250 8o diirdo of
SrDiod.

R »© S o©db R, S Xo&l 058 o $8rSo o
000,

P SE%, B80S sorborr, Bob 8 Kirerso
add.

B8bSen :

MaN,OfM MwP
oo

L. M=P
I. OfP
(1) L 11 8o res Sotier $8Em.

(2) Sovgso 188550 5D 11 widdsn,
(3) 1, 11 oo mren Bolir old;w5w.
(@) Boeyso 11 SgE 520 T e,
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79.

If the letters in the word DOCUMENTATION
are rearranged in English alphabetical order,
which of the following letters is in the middle in
order after rearrangement 7

DOCUMENTATION &8 $508°R sfmrei, wol
w58 Eod® w3, s @dé & dot S efbo
Sini 7
(1) O
3 T

@ M
(4) N

Read the following two statements carefully and
scleet the right conclusion, which follows the |
statements.

Statements : E I
i.  All pens are Buses. J

ii. Some Buses are jeeps.

Conclusions :

I.  All jeeps are pens.

Il.  Some pens are jeeps.

(1) Both conclusions I and 1l follow.

(2) Only conclusion 1 follows,

(3) Neither conclusion I nor II follows.

(4) Only conclusion Il follows.

Sob adyd Tolh Pbleh =e@idm D6,
SEded aiiibod ak) {83 Som e §5PSol.
(BEeNen

L @) Soren e,

i, SR iy dde.

by

I o, &8w Soew.

1L Q) Seren Hi3en.

(1) &oomeen 1, 11 &0 ol oHdPaD.

(2) 8o | Sr B 0Kblob.

(3) Boyaren 1, 1 en Both ©id00H5y.

(4) oy IHrEd 0oBe0d. ]

In the following question, there is some l
relationship between the two terms to the left
of :: and the same relationship holds between the
two terms to the right of ::. Find out the missing
term in place of *?". I
S0t adpls HEE° 0 8 i BES o) Sod
Hore el .5'09?’.3_ Sowotio ob. 1 1 % HE HES ey
Sot Sred Erne ©d 283 dowogo ol ‘7
Apod® Aoty HF% HERy SHTHos.

MOUSE : KPSTC : : LIGHT : 7
(1) JEIR (2) MGHFU
(3) MIHIU (4) JGEFR

21
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In a non-leap year, if Republic day of India is
celebrated on Wednesday, on which weekday
Mahatma Gandhi's birthday will be celebrated in
the same year ?

(1) Monday (2) Sunday

(3) Friday (4) Saturday

0% Soddgo wh DoddGosirdd Hmidod

8T8 0 ‘wlabo’ alilhod, of Bossted®
fosfeey rob aabosD & Besd aththotrd ?

(1) Hardo (2) s&zrdo

3) HEdo (4) €dardo

A statement followed by two assumptions A and

B are given below. An assumption is ‘something

supposed or taken for granted, i.c. a fact that can

be accepted as true on considering the contents

of the given statement.’ You are required lo

assess the given statement and decide which of

the given assumption(s) is/are implicit in the

statement and choose the appropriate option.

Statement : Transfer of Employees within the

state should be taken up for every threeyears.

Assumptions:

A:  Transfer is one of the best tools available
for controlling the employees.

B: Employees overstayed may involve in the
corruption.

(1) Both Assumptions A and B are implicit.

(2) Only Assumption A is implicit.

(3) Neither Assumption A nor Assumption B is
implicit.

(4) Only Assumption B is implicit.

Bob BHO a8 PILI, Totd FIFL BJLET.

o P50 DoOrRE ANGrK HEr Jerer

PDoDS worred ridar DEFEES0. ald

oS 508000, S¥os  Jchmod O
BN /pSen ST hBoSod.

BELE ;58 Karih BoSETrobh 2.8 36 ooHos D
a&roenbbRdirD.

graden

A: aBfgbo DdboPoiito 5% 26d ele
wothertnd® &) oo HbaF 0.

B: QK% oo a8 @6dcs® SO0 esfyow
02558 oyt exse¥o dob.

(1) A, BenTotir ?5‘2)0:‘53}(5:&».

(2) A SrEd orRosedod.

(3) A,BevGotr zrdodnrdits.

(4) B &= erdoSadod.
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82.  Consider the following in relation to the India’s l B4.  Consider the following in relation 1o the Internet
longest Rubber Dam inaugurated in September and Mobile Association of India (IAMAIlY's
2022 report “Internet India” rejeased in July, 2022 -

A.  This dam is known ag ‘Gayaji Dam’, A. Around 346 million Indians are engaged in
B. Itis on the Falgu River. online transactions. T
C. Falgu River is in Odisha. J B. The number of digital transactions in India
. i are greater than that of the US,
D. Experts fm“,’ IIT (Roorkee) were involved I C. The number of female internet users are more
W]ﬂ.'l th:s. project, ; . than male users,
E.  Shri Gajendra Singh Shekhawat, Minister ‘ D. Social-media, entenainment and
of Jal Shakt; inaugurated this Dam, I communications are the top threc activitjes,
Choose the correct answer - E. The report estimates that there will be 909
() AB&Donly (2) A Ba&cCony | million internet users in India by 2025,
() B.D&Eonly (4) A B Cgp only 5‘;“'159&“6;;";6’ HI"S"E;; i s —_—
= "~ y 4 > 0on .V » &y on Y
doath 2022 & 808050l TBEREDH ©b () B.C&E anly @A CD&E anl
DEFI S oSG SomoBod @on map SR NG ot IS moed)s, wngs
Soricdowsod: OUREES 5 solatr  (IAMAI ) adag
A &SR ‘Kohed o0’ @obr, B0 R0ddBr” & Somoso G 800 o)
B. ab Pep 363 aob. HOeBoSod ;
C. Jp5B28Fe acn. A DD 346 20GHS ersbotves ey 85
D. &@afs vad (5r8; ) OB easen FL TG, >oEdos® A AT,
E. 2048 208 § rdogs 20k 28 & ootk l B. o858 Bd08® aaes PTE0 Gowy dIBE
oo, 2 508 28 4y,
(1) AB&D smgd g:"":‘%a;’&é' " ;
D. - . D , Bl -
() AB&Cirgd 8 & o, D8 aimf:
BTPS Sl erdoen,
() B,D & E smesch -
E. 2025588 spesdsost 900 DODY Bty
@) A.B,CaEsmgd DO Goen dotrBD DI0E wosar Fop,

83.  Scientists are now _ﬁne-tuning their researc]'f to B e DoHE ik
make a presentation for the Geographical =
Indications (GI) registration of “Kaj Chutney” (DAB.D&E B (2) A, B, C& D srgd
under food category. Kaj Chutney belongs to (G)B,C&RE 3rgd (4 A, C D &E Sresh
wh:cr}lcofthc fol‘lowmg feosn ? 85.  Which of the following were associated with
(1) Kamataka s'GuH.Jarga_ celebration of *Azadi Ka Amrit Mahotsay® 2
(2) Maharashtra's Hingoli A. Aage Badho B, Jan Bhagidari
(3) Odisha’s Mayurbhanj C. JaiHo Tiranga D, Har Ghar Tiranga
(4) Tamil Nadu's Chengalpattu l E. Badhe Chalo
8 Sorore Ssvedt ek S 0 FRYE G l Cl;aosc the c]gmee;t ans{:.ver:A B

(1) A,C&Donly (2 B, C, E

(GD) m sares Bdbdo &5 TE3den 10 l () B,D&Eonly (4) A B&E only
B0TGS0H H6 Dihroen Oy Do, 5o ey € 808 o85° ‘ward 5o ©E0)8 DR E)5’ 45088
& 808 Bt  roar)A Sos8n 7 l dozodo &) ®ogven DD 7
(1) Sopese® ey | A ofiof B. aSehms C, 8+ 8dore
(2) BSorgrod®a trortn ' D. &6 %6 85ore E. o83
() ele*D Soature;of | NP 2P e o e Hokn:
(@) S2ETosts Boruyky ] (1) A C&D2rg%(2) A, B,C.D&E

| () B.D& Esmgidh (4) A, B & E smsd

+ EsE 22
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86.

87.

—_—

Consider the following in relation to the Indian

companies in Fortune 500 List in 2022 :

A. A total of nine Indian companies have
entered the list.

B. Five of them are private sector and four
were slate-owned firms.

C. Life Insurance Corporation of India (LIC)
entered for the first time.

D. Reliance Industries and Tata Group are
among the private firms.

E. ONGC and BPCL are among the public
scctor firms.

Choose the correct answer:

(1) B_,C&Eonly (2) A B,C&Donly

(3) ALB&Donly (4) A C,D&Eonly

2022 FEmS 500 ders™ grdd Yol

So2obod & Suh 80 H0rdotod:

A & erlors® Iudo 8 rEoh Sonlen
PIsocraw.

B. 8¢ nth pitn SoKo, weoid @ehis SoK
}‘aorgm.

C. w68 408 o %og (LIC) FwsdFd
B380000.

D. BudbS,soif, trer (b e R Soged®
G0,

E. ONGC, BPCL e @%d; Sori Sogest
@00,

0 earenid. Hoth S Kozm:

(1) B,C&Esrsd 2

(2) A,B,C & D smgd

(3) A, B&DSeEd

(4) A,C,D & E Sm@id

Consider the following Padma Bhushan
Awardees of 2022. Which one of the pairs is
NOT matched correctly ?

{1) Krishna Ella and Suchitra Ella : Medicine
(2) Victor Banerjee : Art

(3) Cyrus Poonawalla : Trade and Industry

(4) Ghulam Nabi Azad : Public Affairs

2022 55, dirds ol tErda H8NBoSol.

800 mded® $0re adHBSnEn HH?
(1) 58 Jez, HOS der : Jijo

(2) 28630 8¢

(3) PERrdaro : ardeso, HoEH
@) 1Hero 58 @b : FHar HyoiFoven

— e — e ———————
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Arrange the following countries from the highest
to lowest, based on their total medals tally at the
Commonwealth Games 2022 :

A, Canada B. England C. Australia
D. New Zealand E. India

R 3¢ A%y 20226° =% ADDR Ido HPtre
sogy wrrdore, & Sob Daveh Jrdd Lol BNS
.3:0)}5 witold:

A B B. sorrol
D. &rsderol E. 3r08830

Choose the correct answer:
RoH moreni ochERbain:
(1) AC,RED (2) B,C ADE
(3) B,ACDE (1) C B AED

C. shddr

What is “Exercise VINBAX 2022”7

A. It is the 3" edition of Vietnam-India
bilateral army drill.

B. It is held at the Dalhousie Cantonment,
Himachal Pradesh.

C. It is held at the Chandi Mandir Military
Station, Haryana.

D. The last such drill was held in Vietnam in
2019.

E. The Exercise was focused on deployment
of army engincers and medical teams in
United Nations peacekeeping operations.

Choose the correct answer;

(1) AAB&Donly (2) AB,C.D&ELC

{(3) C&Donly (4) A, C,D &E only

“DamyBy Bk 20227 ol D ?

A. 3B AEHET0-H0BAr BErEE RIS S 33
EGS.
B. =8 pirdd @88 6°0 dTd Eos*ptnst

=BAch.

C. =B droyme &0 Sud Hobb DOLE HEHSE®
=Bhod.

D. 25638 20196° ddbem0f merod S
20Rob.

F. o¥ora@o mod 46558 sigcios
wb; mo2db, 3t pyomreth Irdebostod &
gareh Oy *Ootob.

QSR earanis JotE RodN:

(1) A,B&D&»g3 (2) A,B,C,D&E

(3) C&DEmgd  (4) A, C, D& E i

o +
E*i.f
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90.  Which of the following are the new Mandals declared | 93,  Which of the following hospital gets ‘Kayakalpa
by the Government of Telangana in July, 2022 7 Award-2021" by securing first place in the arca
A. Gundumal in Narayanpet 5 p. s
B. Gangadhara in Karimnagar hospitals category from the Union Ministry of
C. Dudyal in Vikarabad D. Zaffargadh in Jangoan Health ?

E. Saloora in Nizamabad ' N Hospi

Choose the correct answer : (1) Narayanpet Hospital

(1) A,C&E only (2) A, B,Cé&D only (2) Vemulawada Hospital

(3) B.D&Eonly {(4) A,C & Donly ; ;

& 50b 86 Boorrn HebEp0 amp 2022 & 0} Madrlioninl

S 358003 Hoterer 5D 7 Y Anarnl Hospk

A, SO 89 Kothird & 208 Sooprmredt Dbdr whdghe ILADS
B. 880518 650 Korierd O sl 650 oo 2ot Fod® DD So Gy Hodds e» ol
D. zdmei $°0 28 HE E. Qaridrzel &0 arerd 'suibe) omrt-2021" D 2oBs8 267

() A CEESm$3& (2) A,B,C&D&rgd 5

(3) B,D& Esimsh  (4) A, C & Damgd 2} Emors e

91.  Which one of the following countries launched (3) BT dargram
gold coins named “Mosi-oa-Tunya” in a bid to
control the inflation ? (4) aobo targeae
(1) Zimbabwe (2) Russia
(3) Srilanka (4) Pakistan
e, Acbo@od Babsoc’ &8oB=SE D | 94 Malavath Pooma is a well-known mountaineer of
B0 “IrN-2.0 -0 63 DO e Do Telangana. She successfully climbed which of
0B ? the following mountain peak in June, 2022 ?

(1) Zoerd (2) 8apg (3) Beoo¥ (4) FAPR s s ; .

92. Mexican ]ércsidcni Andres Manuel Lopez (1) Mount Kilimanjaro, the highest mountain®
Obrador has proposed a three-men commission peak in Africa
for global pcace to the United Nations : : ; ;
Organization, comprising of the following: {8 Mount Akina, the highest mouniain peak in
A. Ukraine President Volodymyr Zelensky Japan
B. Indian Prime Minister Narendra Modi (3) Mount Elbrus, the highest peak in Russia
C. South African President Cyril Ramaphosa . . ; :

D. UN Secretary-General Antonio Guterres (4) ;ﬁou:lADena.h. the highest mountain peak of
E. Pope Francis orth America
Choose the carrect answer : i $erSE Y Boorreet 308 HhYE BEeEtird.
(1) B,D&Eonly (2) A,B&Donly | = o }
(3) gﬁB, C&Donly (4) A,C&Eonly I oD =5 2022 & % 208 HYS Jvocros® 3D
28 : 8% Himd 2
18° eEs woBh S & ud wprl'h l i
@idois 08 550 & Bob Korbdh Sghe SRS &
RE TP 50008 BB BOTEy: | (1) &S 30mowrE, sbs 60 wss 8%
A. O3S oiHH 5‘%3&0'5 aai),g l B85 Bpdo
B. 9rlfif (oSibho iS00S and | (2) T wim, adS 640 vdps J85 B8
C. GBp ede eGRD NS B | e .
P
D. &%;oveR8bd BELE i8S wolS* G faSiYe 1133 I
E. 8595 I (3) o Jowd, B wiboi &g:ﬁ Feleid
R¥BH warard JoDS i : I Bpbo
() BD&ESrgD (2) A B&DSES | (4) &Pl 2D, AEE bDES 610 vXoS 3%
(3) B,C&D&e@dh (d) A, C & E dmgad | — =
S
+ ' _ 24
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95,

96.

Which of the following statements about Dr. K.
Keshavulu from Telangana are correct ?

A. He is the Managing Director of Telangana
Statc Sced Development Corporation (TSSDC).
B. He is the Director of Telangana State Seed
Organic Certification Authority (TSSOCAJ.

C. He has been elected as the President of
International Seed Testing Association (ISTA).
D. He is the first from any Asian country to
hold one of the top executive posts in ISTA.

E. He is a native of earstwhile Mahbubnagar
District.

Choose the correct answer:

(1) B,C&Donly (2} A,B,C&Donly
(3) A,B&Eonly () A.C,D &E only
BoorreH Bo8d . 8. 3THw HBoIS Sob

03 OB $BH6?

A, BED Bvorree g DS B0 FO0AS
(TSSDC) &320R 2356.

B. =8 Bworrme oo D88 Doddh D88
e (TSSOCA) 5356.

C. =add vodpdad g% ©bY Rodwo (ISTA)
SUHAm B,

D. sbr dee Dol ISTA & o8 ey

SERPEPE HEDS® 65 F0Ke 58
E. afiptd LiranSsns ae o,
H08 marei QothS i

(1) BC&Dsrgd (2) A, B, C & D@

(3) A,B&E&S® (4) A C, D& ESrgd

“Gandhari Vanam” got renovated recently under

Telanganaku Haritha Haram Programme and

developed into a tourist attraction. Where is it

located ?

(1) Bokkalagutta, =~ Mandamarri
Manchiryal District

(2) Chintamanipatnam, Tandur Mandal of
Vikarahad District

(3) Gangadhara Mandal, Karimnagar District

(4) Keesara Mandal, Medchal-Malkajgiri District

“rrogrl SNo” Beorrnd FOS Blo sPEyEo

Bor adse HIGEBoSLB, Bl wlfnm

0850 Sohaliod. 3b IHE 4H6?

(1) &5 0mx, Sotsip dotes, Sotoe Bem.

(2) Doerdbbe, orolird Hodvo, el

Bep.
(3) rroNErS Sotivo, Ebonnb Ser.
(4) 828 oaieo, Hoe§)S -Hoomyd AB Aep.

Mandal,

|

—— e — ——————— e e et
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98.

99.

GET IT ON
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The official mandate of the IMF includes :

To promote international monetary cooperation.
To promote exchange stability.

To eliminate foreign exchange restrictions.
To provide long-term loans for the projects.
To facilitate the expansion and balanced
growth of international trade,

Choose the correct answer;

(1) C,D&Eenly (2) A,B& D only

(3) ABC,D&E&E (4 A,B,C&Eonly

moowE>

IMF w508 sstiaeen /egen:

A, ©odTéch e @ irosto.

B, &r58R8arR, @8 trosto.

C. 208 &rd 15 $0Mibed Sofodto.

D. @aged bEsDs SHre addo.

E. wodghah mdyy d4n, 0080 5,590

Begsto dabio.
ROR 2P JobE n:
(1) C.D&E&»@& (2) A, B&DSmgd
(3) A.B.C,D&E (4) A,B,C&ESr$d
Which of the following was caring for the wounded
soldiers on the battlefield, and was later amended to
cover warfare at sea and prisoners of war ?
(1) Geneva Conventions
(2) Rome Protocols
(3) London Protocols

(4) Nuremburg Conventions
% 8cb S 08 EBgor g s’

rabBas pAHo JobfnD agbolnd, SHT8
seod® Sing dnto, uhnl Phe voruih Dikn
%550 Sabalod ?

(1) 20538, (2) &S @stes,;

(3) eouS@Mfsedy (4) HmBonb 3R
Which of the following countrics formed the

group known as BASIC ?

(1) Brazil, Argentina, South Africa, India and
Canada

(2) Afghanistan, South Africa, India and
Columbia

(3) Brazil, Argentina, South Africa, India and
Chile

(4) Brazil, South Africa, India and China
& Bobd »iSt ZHE (BASIC) deven wd boded

B, Doty TRED AD?

(1) 825, sBoder, 68 sbs, rbsddo, 35w
) ué:)fb_gS. 58 v, rEstEo, Fwodair
3) @ed, udoliar, Bin vde, P88d¥o, Db

@) @as, tir sds, grosddo, B

-

-
it
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100. Match the following UN Secretary Generals

(present/past)with their respective countrics :
Secretary General Country

A. Javier Perez de 1. Epgypt

Cuellar
‘ B. Boutros-Boutros Ghali 2. Portugal
' C. Kofi Annan 3. South Korea
} D. Ban Ki-Moon 4. Peru
E. Antonio Guierres 5. Ghana
6. France

& Bob obTraimd MEEd wd8E b

(5398 /1548 )0 Dhrerd® B o :
ELE aRss oo
A #Das52TS8%HeE 1. &89

B. w@S-om@Smd 2 RS

C. shens 3. GipFodr
D. eR85rh 4, Br
E. @o*adm gl 5. e

6. &5

W)
’. Choose the correct answer :

J $Z% a0 HE E :
(1) A-2;B-1;C-3; D-5;E-4
(2) A-6;B-5;C-4;D-1;E-2
(3) A-2;B-4;C-1; D-3;E-6

(4) A-4;B-1; C-5; D-3; E-2

'I'. M

1

GET ITON
Google Play

101. Match the following UN Conventions with their
respective subjects :
Convention Subject
A. Convention on the 1. Law of the Seas

Prevention and
Punishment of the

Crime of Genocide.

I B. Convention on the 2. Disarmament
I Reduction of
I Statelessness.
I C. Convention on the 3. Human Rights

Continental Shelf.

D. Convention on Cluster 4. Health &

t Munitions. Environment
I 5. Refugees
& Bob obgorey DS §§5§§:§J a8 Howohd
| DREroE® 2d5EHH :
530 DRado
A, erBIOFEIS 1. Ssogsisemen,
DB, BEOR
éﬁs&_ﬁﬁ.
B. oragiréspo 2. Qoeandsto
ShoSEoR EIIS.
C. worrdeod éﬂsé_{gﬁ. 3, SeSdrEnen

D. ©BHE>HRR 4 o850,
£33, Boes5Be90

—— ———— —

5. édmdgm

Choose the correct answer .

BP earenid) JOTHERow:

| (1) A-3;B-5,C-1; D-2
(2) A-5;B-3;C-4;D-2
(3) A-3;B-2;C-5;D-4

l (4) A-4;B-2;C-5;D-1
26
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102.

103.

(3) B,C&Donly

What is the implication for India of ratifying the
‘Additional Protocol’ with the International
Atomic Energy Agency (IAEA) ?

(1) India gets access to import of uranium from
the Nuclear Supplier Group countries,

The Indian nuclear  power
establishments under 1AEA
safeguards.

India gets permission to import nuclear
weapons technology from nuclear weapon
countries,

India gets access 1o nuclear technology
trade with the Nuclear Supplier Group
countries.

wosTrBdb wm @0 S0 (IAEA) & pdsddo
WSy PSS sIrdosSdo Jo GES
0BmEN DR 7 |
(1) ArBcadb HPad ¢ deo  Hod
TUSETIS cwdiche BIDHBE oo
Senibdool.

o8 T8 e wolS Sogwr m2.a.
3G K HBHSES $aw.

©ePyang BEro0s euPaing Jod8SEw
BIoH8 TBSrRs piEdeds onHed
odob.

8008 KHadE [ Bees® 8t
otz OBAY EMﬁ&*a:}g 5‘925,50 SFotheod.

civilian
come

2
(3)

G

(4)

Which of the following are considered as the
major coral reef areas of India ?

A. Gulfof Mannar B. Gulfof Trombe

C. Lakshadweep D. Gulf of Kachchh
Choose the correct answer :

(1) A, C&Donly (2) A,B&Conly

(4) A, B&D only

& 8ob BS° DD EEDED Sord Ripfatilata

@Eroarenrr 30K Bososaran 7

A KyeSdaB B, A8 efercd
C. oghs D. #5)shHEs
FBS aanio SoHE SN ;

(1) A,C&Dsrgd

(2) A, B&CsHmgd

(3) B,C& D &rgd

(4) A, B& D sSmsdh

e . e S— S ——— —— — ——

[ ¥ ]
e |

104,

105,

...
=
b

India recorded the highest number of Tiger

deaths in 2021. Consider the following in

relation Lo this ;

A.  Atotal of 127 Tigers died.

B.  Gujarat ranks first in this fatality.

C. Madhya Pradesh ranks first in this fatality.

D. Maharashtra and Karnataka occupy second
and third position respectively.

Choosc the correct answer :

(1) A & Bonly (2) A,B&Donly

(3) B& Donly 4) A, C&Donly

PEEEE0S" 202165 ;6% Somgs dheve dutfeen

$8rZran. 808 Sowofod & Bob B0 50rdobdn :

A. 3wdo 127 even SddoTron.

B. & S8epod® Humed St &rbodd ok

C. & SHBmrod® i B8 2ot ko Siris08.

D. HFforg, BreE ST Gold, MrED
PTos’ aTmon.

HS e DotHE Kk :

(1) A&B&rgd  (2) A B&DIrgd

(3) BEADSSD (4) A C&DSrEd

“Talanoa Dialoguc” is related to :

(1} The G-20 countries talks on technology transfer

(2) The UN talks on debt relief to the Least
Developed Countries

(3)

The WHO talks on finding origins of
Covid-19 pandemic

(4) The UN Climate Change Talks

“Boe R A28 So0060056:

(1) AroB85 HBepio Eroyip 8-20 e Sen

() By DK Dobds devo G DS08R

eEioradaed SEye

§98-19  Sodrsr0

(ﬁm':g. . . 55&&‘0

(4) et Srty D o¥oredihd S6w

Arrange the following States based on highest to
lowest death toll recorded on account of
Thunderstorms and Lightening events in 2021 :
A. Bihar B. Madhya Pradesh C. Odisha
D. West Bengal E. Rajasthan

202168° athdow, DHHe DHbde Sdsmare

$3rgd e Son; ertore & Sob m%ﬂufs

B0 Hod @enosH wdi@n: :
A, D6 B. 2o5wd€ C. abd

D. 58,8 B8ord E. maﬁgE

Choose the correct answer ;
5% aarend JohF Dy

(1) D,B,C,E A (2) B,A,D,E,
(3) AE,CB,D (4) C.B,A.D,

@xE

3) Dips 0888

S —

C
E
+

I

-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24

107.

108.

Match the following Cyclones of 2021 with their
intensity ;
Cyclone Intensity
A. GULAB 1. Very Severe Cyclonic
Storm
B. YAAS 2, Severe Cyclonic Storm
C. TAUKTAE 3. Cyclonic Storm
D. SHAHEEN 4. Lowest Cyclonic
Storm
5. Extremely Severe
Cyclonic Storm
20216° [ozdod & Bod dHes -6
§3808° wsd8Em:
K B
A, oo . 883 pstuads
B. &% 2. B 2808 ddi
C. % 3. pEE&dD
D. %%8 4. ©8 858 T8 HFH
5. Brd & pESRE S
Choose the correct answer :
OgN earaid dothS i
(1) A4;B-3;C-1;D-2 (2) A-5;B-2:C4;:D-3
(3) A-3;B-1;C-5; D2 (4) A-2; B-5;C-4; D-1
Match the following Corona Virus variants with
their originating country :
Variant Country of Origin
A.  Alpha 1, Brazil
B, Bela 2. United States
C. Delta 3. United Kingdom
D. Gamma 4. India
5. South Africa
& 8ob 56°% 68 Ssroid D 8080008 derus®
et on:
85 8¥o 836,0003 d¥o
A, wemy . @as
B. der 2. o5%P0E B,
C. Ger 3. dw3BE &of do
D. e 4. B0
5. Sfmads
Choose the correct answer :
2335 amran JoHER R Sw:
(1) A-5;B-4;C-1,D-2
(2) A-3;B-5;C-4, D-1
(3) A-5B4;C-2,D-3
(4) A-2;B-3;C4,D-5
10
gt

|

e e e . e, —— . o — o — . B i
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109.  Consider the following in relation to the literacy
rate in India :
A. Literacy rate of India at the time of
independence in 1947 was 12%.
B.  As per the 2011 Census the literacy rate in
India was 76%.
C. Compared to the adult literacy rate, youth
literacy rate was about 9% higher as per
2011 Census.
D. As per thc 2011 Census, literacy rate
among males was over 80%.
E. As per the 2011 Census, literacy rate
among females was 65.46%,
Choose the correct answer :
(1) A,/C,D&Eonly (2) A,B& Conly
(3) B,D&Eonly (4) A,B,C&Donly
BEtEos® efod St Somobod & 208
80 SoridosSod:
A, 19478° Ergdogo SDNGPD EESYE ogoeds
Bew 12%.
B. 2011 2gr rizrose HB5do oS oo Sin

76%.
C. 2011 azw fAorose @Hsvdo S@red ©iovid

Bend® DDF chodad ©EToRE Seo 9% 28y,

D. 2011 wrer Kerosre @500 Hhied® efois
Bew 80% ol w80,

E. 201) agr Kemosre $5°60 Sirtes® vioid
3w 65.46%.
RB marenih DothE i
(1) A,C,D & Esmddh(2) A, B & C S
(3) B.D&EXr@dh  (4) A, B, C & Dimgdh

110. Women won a greater number of seats in the

following state legislative assemblies when
compared to other states (as on 31* December,
2021). Arrange them in descending order based
on the number of seats women occupy in the
respective assemblies :
A. West Bengal B. Bihar C. Jharkhand
D. Chhauisgarh  E. Rajasthan
B8 TP PO (318Dont 2021 88) &
Sob o ire TRNHTLSE” SlrHen M0 ous® b
flen e, Honofs @'&ogﬁ)vﬁﬁ Znlrlen RenihHdy
Rea Bomy srrtiore BB Ehod® ki iy
A S5 Bored B. 88 C. ool
D. $85 &b E. oradrd

Chaase the correct answer:
HBK aaranih dothS X!

(1) B:D;AE; C (2)
(3) A;C:B:D,E (4)
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111. The ‘Make in India' effort of Indian Railways | 114.

has culminated into India's :

(1) First semi high speed train Gatimaan
Express

(2) First semi high speed train Vande Bharat
Express

(3) First high speed train Rajdhani Express

(4) First high speed train Shatabdi Express

cbdcd oo ‘wrbBdEodt daed (DS =S

au&cﬁﬁ) Ey% dreone DS grEstEs woddh

Seudho:

(1) KBErS O8) B, BobBsS 28 grhyE Ben
(2) Sodgrss 25, Anenss 2 2rhyE go
(3) oresprd 25y @S, BoeAnKA 2Ry Ben

(4) €50 I8, R, RnkBwss 288 e

112.  As per the NITI Aayog’s Health Index Round 1V

2019-20, which of the following states emerged
as the best three performers in terms of overall '
performance ?

(1) Kerala, Karnataka and Andhra Pradesh

(2) Gujarat, Madhya Pradesh and Unar Pradesh
(3) Kerala, Gujarat, Kamataka

(4) Kerala, Tamil Nadu and Telangana

& 0B >B8E° N8 vd@rh r§ =085 T IV

2019-20 BsvBo v Bsve H8He sordore SHod
B6% BE6;00% Kt Togren D7

(1) B8¢, Somed, worsHds

(2) Houord, LEgHDE, AREHDE

(3) B¢, Haoe§, Somes

(4) S8¢, s¥arth, 8oorrs

116.

113, Which of the following Prime Ministers

appointed Mandal Commission and taken
decision to implement its report ?

(1) Indira Gandhi and Viswanath Pratap Singh I
(2} Chandra Sekhar and Deve Gowda

(3) Indira Gandhi and Rajiv Gandhi

(4) Morarji Desai and Viswanath Pratap Singh
& 80b Prrddohods® %Hodd $hkd

DEHOD0H,EeR &ﬂ‘dgk’n when HYD0d ASH 7
(1) moboe rrob; D¥wrE Hard hof

(2) Sodnb;ddmx

(3) @obuoe rrol); oodS robd

(4) Sworf devdd; DEgErS Kev DoR

o ———— e i o
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Google Play

According to the Global Wealth Report 2021, the
total wealth of India between 2000 and 2020 is :
(1) Decreased two-fold

(2) Increased eight-fold

(3) Increased three-fold

(4) Increased five-fold

B0l Soss D36% 2021 @Heedo 2000 Fod 2020

Sogss Srwod® Indo rESEE BB :

(N Bo&oéméﬁsoa (2) 20wBofen BHBAGEH
(3) Srloden 2OMN0H (4) nboden OACH
According to the Export Preparedness Index
2020, the following is NOT a part of the
Government of India’s schemes for the
promotion of exports :

(1) Primary Goods Exports Scheme

(2) Transport and Marketing Assistance Scheme
(3) Merchandise Export Scheme

(4) Trade Infrastructure for Exports Scheme

I, 296 236 3B 9026, 2020 @b AbSHEe

Reeeyiro 750 orE8 Hebdio ISGS SErud® 8f

erfio sod:

(1) Do She Hbhe HEko

(2) OGareem, SmGyfoh Stah S580

(3) %o (H8oRs ) bbde SHse

(4) bdibe 8% ordey F0E Shdraive
Filel-l]

The Union Budget for Financial Year 2022-23

aims to strengthen the infrastructure with its

focus on which of the following priorities ?

A. Inclusive Development

B. PM Gati Shakti

C. MGNREGP

D. Information and Communication
Technology (ICT)

Choose the correct answer :

(1) C& Donly 2) AB,C&D

(3) A&Bonly 4y A B&Conly

2022-23 $ 08 S0 H Sof o085 & 8ob O !

@rersy Sorrad® SP0E Sthardired odthio
SR OF;0M %G ?

A R’Jﬂ)&ﬁ’ﬁ @53’1&@

B. .J0.K864d8

C. @odafesbaddh(MGNREGP)

D.  =4048, S 0845 Bsved (ICT)

=0 erar a0 SO o

() C&Ds=gad (2) ABC&D

(3) A&BSmEdh  (4) A, B&Camgd

b
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What is “Chahar Taslim™ 2
(1) A poetry collection of Nur Jahan. l
(2) Ttis a mode of salutation.

(3) Itisa form of a dance,

(4) A book written by Abul Fazal.
“o58 0" wol Do 2

(1) &r¥sS E08e o8

(2) =deE N8 SE8

(3) =8ag ardas Bmdo

(4) wed Jaudohgex Koo

Which of the following sector(s) showed positive
growth in Real Gross Value-Added terms in
2020-21 7

(1) Agriculture, Forestry and Fishing Sector

(2) Trade, Hotels, Transport, Communication
and Services related to Broadcasting
Mining and Quarrying Sector l
(4) Manufacturing Sector

% Sob r86° 20202168 s Ko £888 oo
srdorr Fotme 8,80 E50808 Goro /Sorren
20 /997

(1) Zdawo, ved, se a8d doric

() >dego, Fowy), Savem, Ksn0dns, B3
Rowod Hsen

ord,esbowoars Soro

ddirb Yoo

A3)
(4)

Armange the following major sources of India’s

Foreign Direct Invesiment (FDI) during 2021-22

trom highest to lowest :

A.  United States of America

B.  Mauritius f

C. Singapore

D. Netherlands i

D08 H8% Deyntoo (FDI) mre o Seeons |

2021-228° & 808 3 dro Hol wE08 Dol [

O S58en FO TR imorgone 0T ]
|
l
I
|
l
I
|

121.

A CwgBE R sH oo
B.  &m0:%

C. Rohirs

D. Rigeok,

Choose the correct answer ;
AT eTa0d JohE Kk

(1) CAB,D

(2) D,B,A,C
(3) AB,D,C B,A,C,D

B
(4) B,A,C,

W 30

by E[
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Google Play

Match the following Land classifications of

Moghul period with their attributed meanings :
Classification Meaning

A. Polaj l. Land that has left fallow

for three or four years.

Land uncultivated for

five years or more.

Land  left out of

cultivation for a time for

B. Parautj 2.

C. Chachar 3.

the recovery of its
strength,

D. Banjar 4. Highly fertile and
irrigated land.

3. Land regularly cultivated
and is never allowed 1o

lie fallow.
DS oo w8 & Bop e sﬂgédm& -8
Homodd ores® uasssDHn:
égédm ®%o0
A, DerS 1. S For mrenit dothre
Heoorm DA an 20y
B. 38 2. 0% B0 wossod afys
Dot JrHBHI tirgy.
C. 385 3. @2 5o DD &0
FoS suo Arddmdor
GoSalE e,
D. mow§ 4 B8 Dh5est sri2% o
FEI0ES ¢,
5. QP & Heore sosHone
Nodio Joro Fchad ey
Choose the correct answer
A0 el SothE sy

(1) A-3;B4;C-5;:D-2 (2) A-3; B-1;C-4; D-2
(3) A-5; B-3;C-1; D-2 ) A-2; B-5; C-4; D-1

Which of the following were amongst the most
important Mahajanapadas ?

A. Nalanda B. Gandhara C. Kosala

D. Kuntala E. Panchala

Choose the correct answer -

(1} B,C&Donly (2) A,B&D only

(3) B,C&Eonly (4) A, C&Eonly

& 50D 86° ©8;08 fonod Dtas Soresme

So8RD LD Y

A. Swo8 B, momes C. %o
D %ode  E, Zooee
S35 aTrenid JoXEin;

(1) B,C&D&rgdh (2) A, B & D Smgd
() B,C&Esrgd (1) A, C & E S
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122. Which of the following are considered as part of
five major provincial centres of Ashokan Empire ?

A, Taxila B. Kamboja

C. Ujjayani D. Tosali |

E. Suvamnagiri |

Choose the correct answer :

(1) ALCCD&Eonly (2) A B&Conly l

(3) B,C.D&Fonly (4) A,B,C&Donly |

& 808 =8E° 09 0 IEree*D ol HErS ]

rodah Sorrest o $BKBo Sotaran ? !

A, d5%v B. soffx I

C. dzand D. &%0 ,

E. &3gne I

SN 2ar e QoS

(1) A,C,D&Esfeidh (2) A, B & Cargh

(3) B,C,D& ESr@d (4) A, B,C&D&rgdh

Consider the following in relation to the Sun

Temple of Konark :

A. Konark is a2 monumental represcntation of
the Sun God, Surya's Chariot.

B. Its 24 whecls are decorated with symbolic
designs.

C. The Chariot is led by a team of sixteen
horses.

D. It is considered to be built by King
Narashimhadev-1 of the Ganga dynasty.

E. Itis decorated with reiiefs of fantastic lions,
musicians and dancers.

Chaoose the correct answer ;

(1) A/B,D&Eonly (2) A, B, C&D only

(3) ACCD&Eonly (4 A B C&E only

&b, 6% 1ty Berodihods Sopobod & Sob

TR H6KdoYod :

A By b By S 565 88 0.

B. 6% 24 Spron @Bl s¥ydem €on |
AT, I

C. Oordy 5655 ease ayodo SEDR L I
a0,

D. af o ore SomD8 Sobd o Isd ‘
SBROSFDIST B 050858 IEKB0S-
wthibse. I

E. 89 8emo sooltn efndd dodfen,
HoRSm, § K hos Lt a0,

N80 sTreniD S oiH S HHdm ; ]

(1) A, B, D& Edm@d (2) A, B, C& D

(3) ACD&E&rgad (4) A, B, C&Esmid

31
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Google Play

As per the archacological evidences, consider the

following in relation to Harappan Civilization :

A. The Harappans ate a wide range of plant
and animal products, including fish.

B. Grains found include wheat, barley, lentil,
chickpea and sesame.

C.  Rice grains were found abundantly in all
the areas.

D.  Animal bones found include cattle, sheep,
goat, buffalo and pig.

E. Bones of fish and fowl are also found.

Choose the correct answer

(1) B,C,D&Fonly (2) A,B,D&E only

(3) ABCCD&E (4) A,B,C& D only

QU soTe  @Fdo IS TKe%E%

Sonofod & 8ob B SBKDoSd:

A TEhber 30es 8 «JE Ssu mge,
o dd el ¢hfooeth,

B. wanpd® Mdd, o8, 0% S, 38K
Ooren, e aTm0w.

C. of @rosed® 56 e 2097

exflodaram,

D. 5%%e, Fr@es, oen, fde,
wotheddnen adooran,

E.  Bien, 558 ddimsen Erre €950 Da00n.

D08 2aransd JoEHn:

() B.C.D&E&rgd (2) A B, D& Edngdh
(3) ALB,C,D&E (4) A,B,C&D3r5d

Who among the following argued that “Colonial
education created a sense of inferiority in the
minds of Indians, it made them see Western
Civilization as superior, and destroyed the pride,
Indians had in their own culture” 7

(1) Mahatma Jothiba Phule

(2) Raja Rammohan Ray

(3) Mahatma Gandhi

(4) Womesh Chandra Bannerjee

‘Holmd 28 obuve St Eeim
PTN c'ﬁa%mﬂo&, erS8dined: a0 :‘605‘;09?3 &y
Téarly  ovddo 52!, a"'-ﬂ“jc‘ig OSSN
5,850 Srher 3Hod” 6l % §ob Td
LR PEoTH?

(1) Hidter; &80 5B

(2) el od

(3) e mob

4) &sﬁ)ﬁﬁu@ 3.‘-5@

BEE &
[OF )

1 ——

LERAT
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126. Consider the following in relation to the ' 128.  Using the powers enshrined in Articles 2 and 3
Khajuraho Group OfMO_"”mﬂ“TSi . . of the Constitution of India, the Parliament can
A. The temples at Khajuraho were built during l do which of the following ?

the Shunga dynasty, )
B. These beg!onz mt}"wo different religions — A Admit new territories as new state of India,
Hinduism and Jainism. ) ) B.  Split or merge existing Indian states.
C. These display the originality and high quality C. Transfer and exchange of territories to
of Nagara-slyleﬂ temple architecture, neighbouring countries
D. These were built in sandstone, elevated from & & ' . o
environs by a highly ornate terraced platform. D.  Alter the names and boundaries of existing
E. The temples at Khajuraho were built during Indian States.
Chtt)hi,tact%i::n::“g '{}::‘asi? Choose the correct option :
o e er : .
(1) B,C&Donly (2) A,C&Dunly (1) A, C&Donly (2) A,B&Conly
(3) B,C,D&Eonly (4) A, B, C & D only (3) AB,C&D (4) A,B& Donly
PerE Ssamet V55 Bome Sowobiod & 8ob 88 arorostd  PESmen 2. 3 off
O Joricdosod: | o SalS BBTTODH e5@EPROD, EBotn
A orodED  Uarodives  Hor  oresod l 85 808 DB DD BateKers 2
ste0d® DB 0Saran. I 5 .a.g o
B. sD%rosse, B e 8ot 3 et 3084, | il :‘“ Prod grEshIed” B sgor
C. D ey aoesgs SOAS Snvoe soab 8oy 50 | Ssstio.
sodire EIEEH B68,Pox. B. a8 o) 288 oo dgoddo S
D. 8D SDpde w0l FoE Hodhos® Lrd Dbiso Babiso.
285 080D soETranE® 90058 e, C. %% dred drorro 588, »0d
E. 088 %) Brecres Soder trasod Atito.
s008* B0 0SEERn. D. axyfd &%y wd oo Do, Hese
R3S aaran SoHE S0 i -
(DB, C&DSrgh  (2) A, C & D dmgidy s o 'W G
() B,C,D&E&mEdH (4) A, B, C & D srgsid e

127.  Which of the following is NOT an essential (1) AC&D&rgdH (2) A B&Clmgd
qualification for appointment as a Governor ? . 4 ; it S
(1) He/She should have a domicile of the state (3) ABC&D R A BEDIED

to which he/she is being appointed.
(2) He/She must not be a member of A ;
Legislature or Parlijament, 129.  Which of the following Lok Sabhas were NOT

(3)  He/She shall not be holding any office of profit

(1) w85 /oD osdE oG sowd, 35 Dok

completed their five-year term of existence 7

(1) C&DEPEd  (2) A &B &g

under Central, State or Local Government. A. Tenth B. Eleventh
) HefS];e sdhglgld be afl:'rti?x:n of India and C. Twelfth D. Thirteenth
complete years of age. .
800 6" K5 VAPDSDE 85,0535 wiss Choose the corrsot answer :
. 08 587 = , (I) C&Donly (2) A &Bonly
Sy e i (3) A&D only (4) B &Conly
U (1) ©85/6 o o8 AchDosndat’ o & 0B TBED D & Hren rog e
‘ DERk Gitsl Sl o I Sod8yore sPeo BSFRnE 8% ?
2) @S/ e S 858 5 Keheits —
@ @w f P épzu; . Reboty Ky J A 363 B. #&Fols
L] L8] a
(3) o5%/6D o, oof S0 P Pebovzest I C. a3ous D. Bty
POl SUIHERS DN SON BolERED. | R a0 Do SHE .

S S0A oD,

(3) A&D&rEd (4) B&Cairgd

+ mem 32
‘r% O}

R R R
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130.  Consider the following statements relevant to the
Principles of Ministerial Responsibility :
A. The Council of Ministers shall
collectively responsible to the Lok Sabha.
B.  The Council of Ministers shall meet at lcast
once in a month.

be

C. Ministry as a body shall resign as soon as it
loses the confidence of the Lok Sabha.
D. The Ministers shall hold the office during

the pleasure of the President.
Choose the correct answer :
(1) A,B&Donly (2) A,B&Conly
(3) A,C&Donly (4) B.C&Donly
Do &Y eriioH Sonchod & 8ob i VTSR

S6ndosSod:

A, Hod Hod O SPH I era
SArE08.

B. Do DoXd IJeHh €D >0
SRS RGeta

C. 6% S Degio B&fomd Jowrd Ho@
S0¢d Indo rdarsr 5.

D. o8 edgo I Hogew ebsdost
FhFived.

N0 2P JosHE S0

() AAB&DIrgd (2) A, B&Camgd
(3) A C&DSrgS (4) B,C&Damgd

131, Who were the other members of Justice
R.S. Sarkaria Commission on Centre-State
Relations ?

(1) Dhirendra Singh & N.R. Madhavan

(2) B. Sivaraman & Dr. S.R. Sen

(3) VK. Duggal, Vijai Shankar & N.R.
Madhavan

(4) M.M. Punchi & V.K. Duggal

Eo-o°g Somotrop Doty BVH 280 wb. IR

307 Ocie EDADE"R 6 Sehsen Dt ?

(1) &30S o, 25, 6b. &rsss

() 8.35008, . 5. 6. T

(3) D.8.5H8, Daxdd G086, . 5. IrESS

(4) 3090 %00, 98,0016

132,

| 133.

33
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The cffects of the Proclamation of National
emergency are :

A. Extension of the Exccutive Powers of the
Union Gavernment,

Extension of the Parliament’s law making powers.
The federal provisions of the Constitution
will continue to function.
Restriction on  fundamental
guaranteed in the Constitution.
Choose the correct answer :

(1) A,B&Conly (2) A&Bonly
(3) A,\B&Donly (4) A&Conly
PBID OIHNE BOYB EELS Geraren |

Sofs ebdy ;R0 ehisvoren 9 FPaon,
gboty iftper rdrofBod LBs TR L e,
0aRg0no6 Biirw; ofren HOTARE sotra.
U‘ﬂ";ﬂﬁn 55 2 @"fﬁ;}}‘;‘; f}sé NOR HEILE.
A0S 22arz0id JoHE S

(1) AB&Cargd (2) A&BSegd

(3) ALB&D&rgd (4) A&Cared
Accarding to the Election and Other Related
Laws (Amendment) Act, 2003 :

A. A 50% tax exemption 1w individuals and
corporates on all contributions to political parties.
Disclosure  of party finances and
contributions over ¥ 20,000.

Equitable sharing of time by the recognized
political partics on the cable television network
and other electronic media (public and private).
Expenditure by third parties and political parties
comes under ceiling limits, and only travel
expenditure of leaders of partics is exempted.
Choose the correct answer ;

(1Y A, C&Donly (2) A,B & Conly

(3) AB,C&D (4) B,C&Donly
SRS, ABY Jowods Sepe (S550) Sho, 2003
{@sr80:

A Ho, sEGY caldh Sbob ad) sos
S0P 50% 55 oo,

PGB e, 20,000 s I 888 sabo,
g Jowods somre Jol.

Send 8O 3046, ass Jet hiar
(985, pIS) P Hdred Hhod
EroBis trasfab Srflen Siirdiors Hosssto.
Flo Fdbber Poire Iobo DS,
oafad b, s8be 3D Hbo Lo
w8 S0oR $808 &408 Sx08.

838 2rranidd Do Hsn:

(1) AC&DErED (2) A B&Cirgd
3) ABC&D 4) B,C&DZEm8d

+

B.
C.

D, freedoms

B,

(&)

D.

_— ESETTETT.LE |

10|
S
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Which of the following group of persons were | 136.

members of State Reorganization Commission ?
(1) 8. Fazal Ali, S K, Dhar, K.M. Panikkar

(2) S.Fazal Ali, SK. Dhar, H.N. Kunzru

(3) S. Fazal Ali, H.N. Kunzru, K.M. Panikkar
(4) S.Fazal Ali, K.M. Panikkar, B.M. Katzu
Tgro B35 H55885m ES 68 & 20b woe

BV ITel) Klﬁﬁgmﬂ" S0l 7

(1) 95386 wb, 058.46,8.05. 68,5

(2) %5 b, 253,685, 25.05. Bogs=

(3) Jﬁ%éub,’&r&.éﬁ.ﬁm@mi&ﬁ:.ﬁéﬁ
4) 9'35.:{:&;5@5,@.a&.édﬁ;ﬁ,ﬂ.é&.&g

Who among the following were members of the '
Constituent Assembly of India ?

A. Annic Mascarene

B. Dakshayani Velayudhan

C. Ammu Swaminathan
D. Sucharita Pandit

Choose the correct answer

(1) A,C&Donly
(2 AB&C only
(3) C&Donly

(49 B,C&D only

& 800 206° 238 Terso Domyes 5e56F Sghgeore

ol ?

A. b %=508

B. orprdied SerdinisS
C. o%wr Fdrss
D. 53568 H088

03 2P o8 kn:

(1) A C&Dz3rsdh
2) A B&Csrgd
(3) C&D&Ergdh

(4) B,C&D&mgsd

s
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Match the following Women Chicf Ministers
with their respective states :

Women Chief Minister State
A.  Sucheta Kripalani 1. Goa
B. Nandini Satpathy 2. Assam
C. Syeda Anwera Taimur 3. Uttar Pradesh
D. Sashikala Kakodkar 4. Odisha
5. Maharashtra
& Sob Hire Swwy HogweHr 6 wpes’

s NSH S0

PP Somgod 3o
A DTS berd 1.
B. %089 :5)8 2. oS
C. Rhor ody8surb 3. asbgds
D. #85w 55°¢)6 4. adap
5. Doy

Choose the correct answer :

S8 e doHE s

(1) A-3; B-4; C-2; D-1 (2) A-3;B4;C-2; D-5

(3) A-4;B-3;C-1: D-5 (4) A-5;B-2;C-3; D-1

Good governance aims to bridge the gap between

power and people. An important aspect in this

direction is the iveness of the government,

Which of the following strengthens responsiveness 2

A. Evolving and abiding by a Citizens’ Charter

B. Redressal of Public Grievances

C. Review of Laws, Regulations and Procedures

D. Compctitiveness in politics and electoral
process

E. Transparency and Right to Information

Choose the correct answer -

(I) A,B,D&E only (2) A,B&Conly

(3) ACD&Eonly 4) A B C&E only

S So-dme i wosoy SRoSKED Htbres

OE0. & DFE® SumsToS wodo @i B8:5)053.

& 808 TB6° 580855 poBEED 50 2

A Too >E 080 Sabto, o8 Stvol

dotto,

P orHol BOGBosto.

Stren, dootiben, dpmes .ﬁi’b&orﬂ.{o.

oreddiren, IYBe HEchest HFSsi0.

s 3560'535@5. QP od ).

ST BTPanid DoHEiw:

(1) A,B,D & E $rgd

(2) A, B & C 5@

(3) A.C,D & Esrgssh

(4) A,B,C & E 3mgdH

mo o
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138, What is the reconfigured pedagogical structure of
school education system in the New Education
Palicy - 2020 ?

A. Replacement of present 10+2 system with

S5+3+3+4 system,

Replacement of present 10+2 system with

4+4+3+4 system.

The system consists of foundational,

preparatory, middle and high school stages.

The high school stage is subdivided into two;

9 & 10 in the first and 11 & 12 in the second.

There is an option of exiting at Class 10 and

re-entering in the next phase.

hoose the correct answer :

A,C,D&Eonly (2) A,C&Donly
g B,C,D&FEonly (4) B,C&Donly
4rgs dorg Doeo-20208° Fdere Doy P

238005083 6555 Vom0 DS ?
A, B8 10+2 Dordo %ol 5+3+3+4 Dprdod

SS9 MU 0w

5

Sl Babolod.

B. @28 10+2 Jordo ol 4+4+3+4 derdoH
Srdy) Sodadod.

C. & 5 Havd, doed, i, el
drdeve B¥en DA dotnod.

D. Zwiim)S Goth 5¥e0: 9 & 103068, 11 & 12
Colid tdenre DBotadal.

E. 10 % s8K868° Z)@xh‘.), $cH36 BdS® aon
©3803 wiseFo So.

HEN e JohEd:

(1) A, C,D & E&r@ab (2) A, C & D Smgsah
(3) B,C,D & E &g (4) B, C & D &»gd

139,  Which of the following are considered as the ways of
élrevcnthg and redressing the abuse of power ?
A. Subjecting power to the threat of sanctions.
B. Obliging it to be exercised in transparent ways.
C. Forcing power to justify its acts.

D. Allowing media into decision/policy making meetings.

Choose the correct answer :

(1) ALB&Conly (2) A&Bonly

(3) B,Cé& D only (4) C&Donly

& 308 PSS D ©BE KB RArTY) DaBoD, TP

Wgo@;mﬁéfnﬂu;m&’ﬂiﬂodaﬁuw?
A. o8t soge BABoRD Stadsto.
B. eBSord) s Sorm ekoen Bbre08 Sinbe ien.
C. S50 5555 vdsvrd) &t hEo Babo.
D. J5°%  SrB¥eys, Wdd Sirdeod  Had
SErisime wbdBosto.
3% esaraoi dothe i
(1) AB&C&Hrgd (2) A&BIrEd
(3) B,C&D&r@dh (4) C&DsSrgd

GET IT ON
Google Play

l 140. The PM-KUSUM Scheme was launched by the

141.

Government of India in 2019. It is a part of
which of the following ministry ?

(1) Ministry of Social Justice
(2) Ministry of New & Renewable Energy

(3) Ministry of Forests,
Climate Change

(4) Ministry of Family & Child Welfare

PEE BB D o - DS Ko 20196
@S80doDod. 0 & 8ob O Do@ds toad® grrio?
(1) f b NS e

(2) 2D &8 By woE TogsmoS 56

(3) a):aé @3 &), VoS08 wob gﬁaﬁ' Zod
@) 2025 uS Jstnd wok 35 386

Environment and

Anti-corruption measures of the Central

Government are the responsibility of ;
A. The Central Vigilance Commission

B. Administrative Vigilance Division [AVD)]
in the Department of Personnel & Training

C. Central Bureau of Investigation [CBI]
D. Intelligence Bureau [IB]

Choose the correct answer :

(1) A,B&Donly

(2) A,B & Conly

(3) C&Donly

(4) A & B only

Sos ©zbiss DB DE°5E Stssen HO amsys -

A, Bogoens) shas

B. Rz08, 8%m dzrro &5 0l 0285 D235,
&R [AVD]

|
C. 2od art® wd addiias [CBI] E
D. =@otdEs,arst [IB] '
535 axard DorhEKodn:

|

(1) A,B&DImgdD
(2) A,B&Csrgd
(3) C&Dsmgd
(4) A& B frgd
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cC. & Eﬂ'aasﬂa wol 3.

D. &EondS (voBols) 4.

Match the following Bills’Amendments passed
by the Parliament in 2020 with their respective
Ministries :

Bills’Amendments Ministry

A. The Occupational Safety, 1. Finance
Health and Working
Conditions Code, 2020.

B. The¢ National 2. Labour and
Commission for Allied Emplayment
and Healthcare
Professions Bill, 2020,

C. The Insolvency and 3. Personnel,
Bankruptcy Code Public
(Second Amendment) Grievances
Bill, 2020. and Pensions

D. The Companies 4. Health and
(Amendment) Bill, 2020, Family

Welfare
5. Corporate
Affairs

20206° SBJot» IS0 FobS & Bod
Deves /888meih T8 Somods HoBd; Tyest
e2éf HBcHaim:

Denen /555men o eop
A. BoDHRRIE ™Y, S 1. el
wof; $0)0R S0diS,
&%, 2020.
B. 63536808555 2. Bmbwok
w88 ok 35 86 QoPddol

245, 86, 2020

B8y, HYPE
ersoE5 50 8% (Jok NIS wok 238
2300008 ) O, 2020.

S wolfl 3"’5&5
38,6

5. =008 w3b,

Choose the correct answer
08 aTreni® QohEhan:

(1) A-4;B-3; C-5: D-1
(2) A-2;B-4;C-1;:D-5
(3) A4;B-2;C-1: D-5
(4) A-3;B-2;C-5;D-1

&, 2020.

|
|
|
|

T ——

36

GET ITON
Google Play

143. The River Cities Alliance (RCA) launched in

144.

February, 2022 aims to provide the member
cities a platform to discuss and exchange
information on the vital aspects for sustainable
management of urban rivers. Which of the
following cities are part of the RCA ?

A.  Ayodhya B. Delhi C. Hyderabad
D. Rishikesh E. Udaipur

Choose the correct answer:

(1) B,C,D&Eonly (2) A,B&Conly
() A,B,D&Eonly (4) A.C,D&E only
056 A5 oS, (RCA) Hpso 202260
@rsodoiSndod. ab dim St REDI WD
BomoBod So B womed 38,00, Kiromm,
o)l TRESRE K Shoed o8 3650
©oB03%0 B3 vfo.& 8ob =B O Srvee

RCAE® zrifore aiamon?

A @Sy B. 80  C. rooewrd
D. o%8§ E. &5 56

QG maranih JoHEHsn:

(1) B,C,D&E&mgd

(2) A, B & CSrgdh

A,B,D & Esrgdh
A, C, D & Edmgdh

(3
(89

Which of the following aspects are considered as

the social accountability initiatives ?

A. Centralised bureaucratic planning and
policy formulation.

B. Citizen's Charters.

C. Community score cards.

D.  Participatory expenditure tracking.

Choose the correct answer :

(1) A,B&Donly (2) A,B&Conly

(3) AB,C&D (4) B,C&Donly

& Sob o8 D womey PIrEE wroorbss

TESenrm H6rBosataran ?

A Bod¥H wbs By, Dems SrBsSees.
B. &5 THED.

C. &80 955 sotpen.

D. E‘.Pﬁ:ﬁ“sé:,g S0 éﬁ;ﬁﬁw.

NON aareniD dothEHsin:

(1) AAB&DSrgd (2) A B&Cirgh

(3) A,B,C&D (4) B,C&D&mgsd
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145. What is TS Globallinker ? j

>

It is a digital networking platform,
B. Itis an initiative of T-Hub.

C. It helps MSMEs contact global buyers and

sellers.

D.  As per Socio Economic Qutlook — 2022, a
total of 7,000 SMEs from Telangana have
registered on the platform. f

E. It collaborates with the Confederation of
All India Traders (CAIT).

Choosc the correct answer :
(1) ALCCD&Eonly (2) A,B&Conly
(3) ALB,CCD&E (4) A,B,C&Donly

TS 20056 @ 3 ?
A abe¥daed 3550)0R i X6,
B. @b Trd 63.

C. zb MSME e ﬁ_fmné PRt entrtew,
IF D JoPBoIES® HIHADHHHH0B.

D. Boormr FhdAr IHwE Teps - 2022
Hoesedo oo 7,000 SME eo & e 5,
& $rtsh Bothamyom.

E. 30535088 0d od soldr B8, (CAIT)
& Sir5emuos.

3% atranih ohE% 50! I
(1) A, C D&E&rgd
(2) A, B&Csosd [

(3) A,B,C,D&E

(4) A, B,C&DzZrsd |

GET IT ON
Google Play

146. The Tclangana FElectric Vehicle & Energy

Storage Policy 2020-2030 provides 100%
exemption of road tax & registration fee for
different variety of electric vehicles upto certain
number of vehicles purchased and registered in
Telangana. Match the following types of vehicles
with their limits of exemptions :

Type of Eleetric Exemption upto
Vehicle
A. Two Wheelers 1. For first 20,000
vehicles
B. Threc-Seater 2. For first 10,000
Auto-Rickshaws vehicles
C. Buses 3. For the first
2.,00,000 vehicles
D. Private Cars 4. For the first 500
vehicles
E. Light Goods 5. For the first 5,000
Carriers vehicles
6. For the first 12,000
vehicles

Boorr J088 L) & 238 PSS Fred 2020-
2030 8oorred® oo 38, $ard 305 D0
DeEE oo J0Y Somd® 5 Sdy, B2HAS
6 100% oSHFawonH eobiyod. & Lo
fere oD 8 diFavohe LafHkost
28D Hsn:

088 aridriso S0 R0 HOB

A, Ogifardroren 1. 3wisdS 20,0000
T

B. @358ssi83en 2. Fwisd 10,000
Ferared)

C. odnem 3. o 2,00,000
FeFaeh
D. 3Erde 4. 3nsd 500
oo

E. B¢ ek, 5. 3w 5,000
Slelenl TFTOD

6. w6 12,000
TP

Choose the correct answer :
A8 aarad JoDEREw:

(1) A-6; B-3; C-2; D-4; E-5
(2) A-3; B-4; C-6; D-2; E-1
(3) A-6; B-1;C-2; D-5; E4

| —

(4) A-3;B-1; C4; D-5; E-2 _
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147. In Yasangi 2021-22, around 63 lakh farmers | 150. Consider the following statements regarding

received investment support under the Rythu
Bandhu scheme. Arange the following
beneficiarics from lowest to the highest based on
the number of recipients ;

A. BCland owners B. SC land owners

C. STland owners  D. Other land owners
airiSoR 2021-22 &° B woth Ho B0l o
63 ofe Bken iynd BEH Fow. Kirdo
Sow; eprdore 808 vlrho 555 wol VTR
Rogys @516335&}::

DD ¢ dhbaisrioe I

inclusive policies for older persons :

A. Rashtriya Vayoshri Yojana (RVY) provides
physical aids and assisted living devices 1o
senior citizens.

B. SACRED portal was launched for the
reemployment in dignity for the senior
citizens.

C. The Government provides financial
assistance directly to the senior citizens
through an open invitation on Seniorcare
Ageing Growth Engine (SAGE).

A. D.  Atal Pension Yojana (APY) in open to all
pe l citizens of India between 18-40 years of age
B. 359 chedirdbe and administered by the Pension Fund
C. 35 S Regulatory and Development Authority
) & g oSes e (PFRDA).
28 ¢ dhadreden

Choose the correct answer :

Choose the correct answer :
(1) B, C & D are only correct.

A8 amran JoHE D Sw: (2) A, B, C& D are correct.
(1) C:B;D;A (2) B:C:D: A (3) A, C & D are only correct.
(3) B;A;C;D (4) B;C;A:D (4) A, B & D are only correct.

Sepe Boﬁtgiﬂ‘ﬁ agrare (Inclusive policies)

148. Which of the following projects aims at HomoBoi & arsmsed 36800504:
improving dietary diversity among tribal children A uvi‘;,m: S@mE, Gres (RVY) BIcGE 2ot
and women ? \
(1) Giri Bhojanam (2) Giri Arogyam 88 JiFdhsrurn, SEanE Snsnsdored
(3) Giri Samatha (4) Giri Poshana sorEhot.
& Bod >B6° NowS by, Hos® 68 FogrDy B. J0chE B8 moSSgorm 86A AadE
DD DESTRE 4FBoDS 25007 EDodk0 S50 SACRED &
(1) ABS*edo (2) AB B0 rofiodnlod.
(3) ABISS (4) no e C. H0o%6 36 DaoR (*8 =wowd (SAGE) ?
atrdor wiflo oroe BOaHE DS
149. The Social Innovation Policy of Telangana is i Jareebdso DY ST woB0B.
driven by which of the following 7 D. 18-40 SoSdoro iy Scoks Ko s
(1) Educate, Innovate and Enterprise Poovosed wbE 3 iﬁ Seess (APY)
(2) Empathise, Inclusive and Empower it 5‘5’ Kin b, et
(3) Collaborate, Innovate and Transform SeceEp i aoe::cf ' e o0
(4) Innovate, Produce and Market orbBd wof GeSdots wzds (PFRDA)
& £0B o wosre oo Buorrer RS aHFES R AOFPTR0B.
Jred 30300 ? i BB aTeeni® DoHE Sk
(1) 28BS, aFiS8, dotss s I (1) B, C&mgsd D forgad 5359
(2) 203BSE, vo¥ras, JoHss l (2) A, B, C%bBdin D $8:59.
(3) Fodds, aF 36, (56, I (3) A, Cimgd D @ 53:59.
(4) ahdsS, @dmh, gy | (4) A, B Sr@d D sred 559,
+ - 38
e Xy (=]
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